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Identify the grammatically correct sentences from
the following :

i.  Himalayas are mountains.
ii. The Himalayas are mountains.
iii. They lived in tribal area.
iv.
(A) i and iv

(B) ii and iii

(C) ii and iv

(D) i and iii

“He is stone deaf.” The word
as in the sentence.
(A) Noun

(B) Adjective

(C) Adverb

(D) Verb

She wasted much time

(A) on

(B) in

(C) at

(D) for

In which of the following sentences is the verb
used incorrectly ?

They lived in a tribal area.

‘stone’ is used

trifles.

(A) I must avenge my friend
(B) She lay on the ground
(C) He has taken a test

(D) The boat drowned
Phonetics is concerned with :
(A) Sound

(B)- Structure

(C) Culture

(D) Meaning

*

6.

10.

Mahabhashya has been written by :-
(A) Patanjali

(B) Bhartihari

(C) Valmiki

(D) Panini

The application of linguistic theories and methods
to the analysis of language of literature is known
as :

(A) Lexicography

(B) Anthropology

(C) Stylistics

(D) Ethnolinguistics
‘Imperious’ is the opposite of :
(A) Arrogant

(B) Moody

(C) Subservient

(D) Quiet

_ is the Vice Chancellor of the Central
University of Kashmir.

(A) Prof. Merajuudin Dar
(B) Prof. Nilofer Khan

(C) Prof. A. Ravinder Nath
(D) Prof. Sanjeev Jain

Who, among the following, won the 2023 Sahitya
Akademi award for Kashmiri ?

(A) Shafi Shauq

(B) Shad Ramzan

(C) Manshoor Banihali
(D) Mohi-ud-Din Reshi




11. The Hon’ble of India attended the 20" 16 Which of the following is the most populous

convocation of the University of Kashmir held
in 2023.

(A) Prime Minister
(B) President
(C) Vice President
(D) Home Minister
12. In February 2023, the Geological Survey of India

established lithium-inferred resources of 5.9 17.

million tonnes in district of Jammu
and Kashmir.

(A) Ramban
(B) Poonch
(C) Reasi

(D) Rajouri

13. Which of the following countries took over the
Presidency of the G20 from India in December
2023 ?

(A) Turkey
(B) South Africa
(C) Australia

14. India became the to make a moon landing
and the to land a spacecraft on the
lunar south pole.

(A) second, first
(B) third, first
(C) fourth, first

(D) fourth, second 20.

15. Which country won the ODI World Cup in Cricket
in 2023 ?

(A) New Zealand
(B) South Africa
(C) Australia
(D) India
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country at present ?

(A) China

(B) India

(C) United States

(D) Indonesia

Lalitadatiya belonged to which dynasty ?
(A) Karkota

(B) Utpala

(C) Lohara

(D) Gupta

18. Who was the founder of Chak dynasty ?

(A) Yousuf Chak
(B) Ghazi Chak
(C) Ali Chak

(D) Hassan Chak

. The Treaty of Amritsar was signed on :

(A) March 15, 1843
(B) March 16, 1846

(C) March 16, 1847
(D) March 20, 1848

Indian Parliament approved the Indira Sheikh
Accord on :

(A) March 13, 1974
(B) March 13, 1975
(C) April 13, 1974

(D) April 13, 1975
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24.

What is the dominant language of Gurez valley ? 26.
(A) Kashmiri

(B) Pahari

(C) Shina

(D) Balti

The first schedule of Constitution of India ranks
Jammu and Kashmir :

(A) 15th
(B) 16th
(C) 17th
(D) 18th

27,

Name the dance in which a teenaged boy is

dressed as a girl dancer : 28.

(A) Dambali -
(B) Rouf

(C) Manipa

(D) Bacha Nagma

Which of the following was recently included 59
in the list of scheduled tribes of UT of Jammu
and Kashmir ?

(A) Bakarwal
(B) Gujjar
(C) Paddari

(D) Brokpa 30.

25. Kashmiri has borrowed heavily from :
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(A) Pahari
(B) Dogri
(C) Sanskrit
(D) Ladakhi

% &

Which of the following is genetically a sister
language of Kashmiri ?

(A) Tamil

(B) Burushaski

(C) Ladakhi

(D) Shina

The Sharda script was developed around :
(A) 5th Century

(B) 7th Century

(C) 10th Century

(D) 14th Century

Kishtwari is a regional dialect of :

(A) Punjabi

(B) Pahari

(C) Dogri

(D) Kashmiri

Shati Kanth is the author of :

(A) Rajtarangni

(B) Mahanya Prakash

(C) Bana Sur Katha

(D) Vitasta

The genre of Vaakh is predominantly used in the
poetry of :

(A) Lal Ded

(B) Sheikh-ul ‘Alam

(C) Mehmood Ghami

(D) Habba Khatoon
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. The famous poem ‘SHASH RANG’ has been 36.
written by :

(A) Rahman Dar
(B) Shams Fagqir
(C) Rosul Mir
(D) Samad Mir

. Which one of the following poets has been
awarded the prestigious Gyanpeeth award ?

(A) Mahmud Ghami
(B) Rehman Rahi
(C) Amin Kamil
(D) Ahad Zargar

33,

Carbon, diamond and graphite are together called : 38.
(A) Isomers

(B) Allotropes

(C) Isomorphs

(D) Isotopes

34. Which of the following is the best conductor of

electricity ? 39,
(A) Copper

(B) Mica

(C) Zinc

(D) Silver

35. Which of the following part of the cell is essential

for protein synthesis ?
(A) Chloroplast

(B) Ribosome

(C) Golgi Bodies
(D) Chromosomes

40.

SP-4467-A

% th

Nitrogen fixing bacteria present in the root nodules
of leguminous plants are :

(A) Saprophytic
(B) Symbiotic
(C) Parasitic
(D) Protolytic

37. The famous radio actor Pushkar Bhan was the

key figure in the programme aired
from erstwhile Radio Kashmir Srinagar.

(A) Raay Traay
(B) Pragaash
(C) Sangarmaal
(D) Zoon Dab

DD Kashir was established as a separate Regional
Language satellite channel with its formal
inauguration taking place on :

(A) 26-01-2000
(B) 06-06-2000
(C) 15-06-2000
(D) 31-12-2000

is the first daily newspaper of Kashmiri
language.

(A) Gulrez

(B) Sangarmaal

(C) Gaash

(D) Kong Posh

ISDN stands for :

(A) Internet Services Data Network

(B) Integrated Services Digital Network
(C) International Services Digital Network
(D) Internal Services Digital Network
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Find the odd one out in the following questions 46. The total amount of bonus paid by the company
(Q. 41 to 44) :

4].

42.

43.

44.

(A) Carpenter
(B) Blacksmith
(C) Goldsmith
(D) Sailor
(A) Deer
(B) Zebra

(C) Jackal 47.

(D) Giraffe
(A) BCA
(B) EFD
(C) LK1
(D) HIG

(A) Writer
(B) Printer
(C) Publisher
(D) Reader

48.

during the given period is approximately what
percent of the total amount of salary paid during
this period ?

(A) 0.1%

(B) 0.5%

(C) 1%

(D) 1.25%

Total expenditure on all these items in 1998
was approximately what percent of the total
expenditure in 2002 ?

(A) 62%

(B) 66%

(C) 69%

(D) 71%

The ratio between the total expenditure on Taxes

for all the years and the total expenditure on
Fuel and Transport for all the years respectively

is approximately :

Study the following table and answer the questions (A) 4:7
based on it (Q. 45 to 48) : (B) 10:13
Expenditures of a Company (in Lakh Rupees) per (C) 15:18
Annum Over the given Years : X
(D) 5:8
Item of Expenditure ; - : :
: 49. Find the next term in the Series: AZ, GT, MN,
Year |Salary | Fuel and | Bonus| Interest on| Taxes YB
Transport Loans —_— 3
1998 | 288 98 3.00 23.4 83 (g) i
1999 | 342 112 2:52 32:5 108 (B)
(C) SH
2000 | 324 101 3.84 41.6 74
(D) TS
2001 | 336 133 3.68 36.4 88 : 7
oy . Salim ranked 11% from the top and thirty one
HO0% e 1D L 396 i from the bottom in a class. How many students
45. What is the average amount of interest per year she thara dny the class
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which the company had to pay during this period ?
(A) Rs. 32.43 lakhs
(B) Rs. 33.72 lakhs
(C) Rs. 34.18 lakhs
(D) Rs. 36.66 lakhs

* N

(A) 42
(B) 43
(C) 41
(D) 40




. A is the wife of ‘B’ and ‘B’ is the brother of 56. Which symbol in the Answer Figure completes
‘C’. *C’ is the son of ‘D’. How is ‘D’ related the sequence in the Problem Figure ?
to ‘A’ ? Problem Figure
(A) Sister
(B) Aunt X >« 2 <]
(C) Brother

(D) Father-in-law
. Butterfly is related to Caterpillar in the same

way as Toad is related to . Y > X p<]

(A) Tadpole

Answer Figure

(B) Frog A B C D
(C) Swamp 57. Identify the next number in the series :
(D) Lizard SIS 06
. Choose the image that completes the pattern (From (A) 178
left to right) : (B) 212
(€) 217
(D) 274

58. Roshan walked 10 metres to the east and then
turned north and walked 15 metres. He then
turned west and walked 12 metres. He again

N , «’5‘ -E ‘; . ned south and covered 15 metres. How far is
' lt:erfrom thtc stalc'lting poi(riul‘.f T

(A) 1 metre
- Choose the image that completes the pattern (From (B) 2 metres
left to right) : (C) 3 metres
2N (D) 5 metres
N HIZN & <<3>> A 59. If 25 x 35 = 78, then 45 x 52 = 9
(A) 97
R e S (B) 2001
2 i @ Al | (C) 106
© ' A0\ A’ (D) 710
55 < Rdloct thesodd biie out & 60. How many numbers from 1 to 100 can be divided
: i § : ’ by 4 whose at least one digit is 4 ?
— ; (A) 4
[T [*] [Jo DDNM (B) 3
lole ’ o5 | | ©) 6
i g ‘ ' (D) 7
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Cdl wal of fungi is mostly made up of 7.
(A) Chitin

(B) Cdlulose

(C) Pectin

(D) Both (A) and (B)

The term gpiculture refersto

(A) Tisueculture

(B) Psciculture

(C) Beekeeping

(D) Anima-keeping

Themgjor binding forceindiamond, siliconand quartz o
is

(A) Electrostatic force

(B) Electricad attraction

(C) Covaent bond force

(D) Vander-Wadsforce

The first law of thermodynamics is concerned with 10.

the conservation of

(A) Number of molecules
(B) Number of moles
(C) Temperature

11

(D) Energy

Who among the fallowing is afamous Linguist?
(A) Jeff Bezos

(B) Noam Chomsky

(C) BorisJohnson

(D) Clint Eastwood 12.

Which of thefollowing isnot abranch of Linguigtics?
(A) Syntax

(B) Morphology

(C) Phonology

(D) Numismatics

SM-29557-A 2
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Polysemy refersto

(A) Beecommunication

(B) Many possible meanings of aword or phrase
(C) Many languages spoken by a person

(D) Study of Polyesters

Which of the following processes explains formation
of the word Scuba asin Scuba diving?

(A) Derivation

(B) Blending

(C) Clipping

(D) Acronomy

Who among the following received the National
Florence Nightingde Award 20217?

(A) PavezKoul

(B) Shad Ramzan

(C) Ahmeadullah Wani

(D) Umran Mdik

MahargiaHari Singh’s birthday is celebrated on
(A) 8" of August

(B) 234 of September

(C) 13" of Jly

(D) 8" of September

Mohra Heritage Hydro Electric project, which was
recently in news, islocated at

(A) Shopian

(B) Ramban

(C) Uri

(D) Gulmarg

Which of thefollowing set aLincoln Book of Records
by writing the Holy Quran on a500-meter white scroll
paper?

(A) Mugafaibne Jamil

(B) Athar Amir Khan

(C) Altaf Hussain Shah

(D) ShahFasd



13.

14.

15.

16.

17.

18.

What isMV Ganga Vilas? 19.

(A) Bdlidic missle

(B) Hydro power plant

(C) Supefadttrain

(D) River cruise ship

Rahman Rahi was awarded the Jnanpith award for

which of the following works? 20.

(A) Nauroz-i-Saba

(B) Karaw Kyah

(C) Yyah Ruudi Jaren Manz

(D) Kahwat

Which of thefollowingisthe grammatica category of
English word ‘ subject’ ?

(A) Bothverb and noun

(B) Both noun and adjective

(C) Both verb and adjective

(D) Both noun and adverbia

Which of the following sentences carries a past
perfect continuous tense?

(A) | amwatching a series on ants. 22.

(B) | have been watching a series on ants.

(C) | had been watching a series on ants.

(D) | have watched a series on ants.

Which of the following ian't aform of verb ‘be ?
(A) Was

(B) Were 23.

(C) Are

(D) None of the above

The use of definite article in the sentence ‘Are you
going to the museum tomorrow? indicates tha the

speaker isreferring to 24.

(A) A specific museum
(B) Any musaum

(C) All museums

(D) All of the above
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21.

Which of thefallowing was Prime Minigter of England
before Rishi Sunak?

(A) BorisJohnson

(B) Dondd Trump

(C) TheesaMay

(D) LizTruss

Where was 2022 United Nations Climate Change
Conference (COP 27) held?

(A) Sharm El Shelkh

(B) RiodeJaneiro

(C) Pais

(D) Glasgow

The Suntemplea Martandawasbuilt during thereign
of

(A) LditadityaMuktapida

(B) Gonandal

(C) Chandrapida

(D) Durlabakha

Who ordered the building of Nagar-nagar on the
dopes of Hari Parbat?

(A) Sultan Mahmud Shah

(B) Akbar

(C) Mir Ali Hamadani

(D) Ranjit Singh

Where and when was Treaty of Amritsar concluded?
(A) Jammuin 1934

(B) Anvitsar in 1846

(C) Lahorein 1830

(D) Jdandhar in 1902

Find the odd man out :

(A) Rectangle

(B) Triange

(C) Sguare

(D) Cone
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25. Find the odd man out :

(A) Universe

(B) Sun

(C) Moon

(D) Star

26. Find the odd man out :

8 64 100 125 216 343

(A) 125

(B) 100

(C) o4

(D) 343

27. Find the odd man out :

1025455460 75 80

(A) 25

(B) 45

(C) ™4

(D) 75

Study the following information carefully and answer

the below Question No. 28 to Question No. 31

() Jayant, Kund, Namrata, Anjdi and Tanmay are
five members of afamily.

(i)  Each member hashisher birthday in one of the
months from January to May.

(i) Each member likes to have one particular item
for hissher birthday from Bengali sweets,
Chocolate, Padtries, Ice Cream, Dry fruits

(iv) Theonewho likes padtriesisborn in the month
whichisexactly inthemiddleof themonthsgiven

(vV) Anjali doesn't like ice cream but brings
chocolates for Jayant in February

(vi) Tanmay who isfond of Bengdli sweetsis born
in the next month immediatdy after Namrata

(vii) Namratadoesn't like dry fruits or ice cream

SM-29557-A 4
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28.

29.

30.

31

32.

What is the choice of Kuna?
(A) Bengdi sweets

(B) Diry fruits

(C) Icecream

(D) Can't be determined
What isthe choice of Anjdi?
(A) Dry fruits

(B) Bengdi sweets

(C) Icecream

(D) Can't be determined

In which month was Kund born?
(A) January

(B) May

(C) January or May

(D) Datainadequate
Which combination of month and item is correct for
Jayant?

(A) February —Ice Cream
(B) February — Pastries
(C) March—Padtries

(D) None of these

A man had missed the bus to Guimarg, when he
reeched La Chowk Bus termind a 3 PM. At the
same time an announcement was made that the next
buswill leavefor Guimargin 2 hours time, asthebus
leaves every 7 hours. At what time had the bus left
the termind?

(A) 10AM

(B) 12 Noon

(C) 9PM

(D) 8AM



33.

35.

(A) 4:10AM
(B) 2:20AM
(C) 3:20PM 40,
(D) 3:55PM
Study the given table carefully and answer the
questions below that
Locdity] Tota No. Percentage
of People |Men | Women | Children
F 5640 | 55 | 35 10 |4
G 4850 34 44 22
H 5200 48 39 13
I 6020 65 25 10
J 4900 42 41 17
SM-29557-A 5

Busfor Pahdgam leaves every 3%z hours. If the bus 36.

for Pahdgam has left 20 minutes ago and the next
bus as per schedule will leave a 6:30 PM. What is
the time now?

(A) 3PM

(B) 6:10 PM

(C) 320PM

(D) 3:55PM 37.

Bild leaveshishomea 20 minutesto 7 inthemorning,
reaches Javed’ shome in 25 minutes, they finish ther
breskfast in another 15 minutes and leave for their
office which takes another 35 minutes. At what time
do they leave Javed s home for ther office?

(A) T7T40AM

(B) 815AM

(C) 7:20AM

(D) 7:55AM

38.

Flight to Mumbai leaves every 5 hours. At the 39

information counter | learnt that the flight took off 25
minutesbefore. If thetimenow is10:45 AM, What is
the time for the next flight?

Tota number of people saying in locdity J forms
approximately what percent of the total number of
people staying in locdity F?

(A) 81

B) 72

(C) 78

(D) 87

What isthetota number of children stayinginlocdities
H and | together?

(A) 1287

(B) 1278

(C) 1827

(D) 1728

Which locdlity has highest number of women ?

(A) H

B) J

© F

(D) G

What isthetotad number of men and children staying
in locdity | together?

(A) 4115

(B) 4551

(C) 4515

(D) 4155

Which of thefollowing Magams of Kashmiri Sufiyana
Music has been teken from Persan?

(A) Arag

(B) Navroz e Subah

(C) Dugah

(D) All of the above

Shina-speaking people are mostly found in

(A) Gurez

(B) ChendbVdley

(C) Tangdar

(D) Raouri
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42.

45.

46.

Purigpa or Purki is 47.

(A) A language/didect mosily spoken in Kargil
(B) A muscd ingrument of Paharis

(C) Arriver in Kupwaradidrict

(D) Nameof afruit

The Kashmiri Literary Journd Soun Adab has been 48.

associated with

(A) Jammu and Kashmir Academy of Art Culture
and Languages

Universty of Kashmir

Adbi Markaz Kamraz

(B)
(©)
(D)
Which of the following has been wrongly matched?
(A) The Jammu and Kashmir Accountability
Commission - 2002

TheJammu and Kashmir Shri Amarnath J Shrine
Act - 2000

(B)

(®)
Act - 1976

(D) None of the above

Which of thefollowing isthe oldest Hindi Newspaper
published from Jammu?

(A) VritantaBitas 51

(B) Kavi Vachan Sudha

(C) TheBharat Mitra

(D) None of the above

Which of the following languages has influenced
Kashmiri the most in ancient period?

(A) Sanskrit

(B) Hindi

(C) Urdu

(D) Punjabi

SM-29557-A 6
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None of the above 49,

The Jammu and Kashmir Agrarian Reforms 50

92.

Kashmiri isa

(A) V2language

(B) Pogpostiond language
(C) 8" Schedule language
(D) All of the dove

Which of thefollowing didectsis gpoken outsde the
Kashmir Vdley proper?

(A) Maraz

(B) Kamraz

(C) Yamraz

(D) Kishtiwari

Which among the following isthe officid language of
J&K?

(A) Kashmiri

(B) Dogri

(C) Urdu

(D) All of the dove

The Kashmiri Drama Suya has been written by
(A) Ali Mohamad Lone

(B) Rahman Rahi

(C) Mehjoor

(D) Samad Mir

The Kashmiri Nazm SheshRang has been written by
(A) RahmanDa

(B) Akhtar Mohiuddin

(C) Shams Fekir

(D) Wahab Khar

http in web communication refers

(A) Hyper Text Transfer Protocol

(B) Hypo Text Transfer Protocol

(C) Hyper Text Trander Period

(D) Hyper Trandfer Text Protocol



53.

55.

56.

Who among the following Kashmiri writers is the 57.

recipient of Padma Shri Award?
(A) Shad Ramzan

(B) Shefi Shouq

(C) AminKamil

(D) All of the dove

Who among the following has been associated with

Radio Kashmir Srinagar?

(A) AdhfagLone

(B) TdhaJahangir

(C) Himayun Kaisar

(D) All of the dove

Where was Nationa Y outh Festival 2023 held?
(A) Bangdore

(B) Srinagar

(C) Jpur

(D) Hubli

Which TV channe provided live telecast of Qatar
World Cup Footbal Tournament in India?

(A) Zee

(B) Star

(C) Channd 18

(D) ESPN

SM-29557-A

58.

59.

60.

Complete the seriesDKY, FIW, HIU, HS,
(A) LFQ

(B) LGQ

(C) KGR

(D) KFR

Find the missng lettersin the series
AB,DE,GH, MN.

(A) HI

B) X

(C) KL

(D) None of the above

If in a certain code language MAN is coded as
NBO, which of the following will be the code for
SKY?

(A) TLZ

(B) ZLT

(C) YKS

(D) LTZ

If MOHAN is represented by the code KMFYL,
the COUNT will be represented by

(A) AMSLR

(B) MSLAR

(C) MASRL

(D) SAMLR
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1. __1sthe device that projects and advances 6.

text directly in front of camera’s lens, allowing

the newsreader to read their lines while appearing
to maintain eye contact with the viewers.

(A) Prompter

(B) Teleprompter
(C) Telereader
(D) Machine reader

2. Vividh Bharati is also known as

- (A) Commercial Broadcasting Service
(B) Commercial Broadcasting Company 8.
(C) Commercialized Broadcasting Service

(D) Mercantile Broadcasting Company

3. 18 the first Urdu newspaper of India,

(A) Jam-i-jahan-Numa
(B) Khabarnaama

Put the odd one out from the series : 385, Amw_u
X172, 396,427, 671, 264.

(A) 385
B) 427
(C) 671
(D) 264

Put the odd one out from the list of colors : orange,

violet, brown, red, green, blue, vellow.
(A) Orange

(B) Violet

(C) Brown

(D) Yellow

Put the odd one out.

(A) Kiwi

(B) Ostrich

(C) Eagle

(D) Penguin

The given table shows the data regarding the number
of medals won by different countries in Asian Games

in a particular year.

(C) Darpan
(D) None of the above

Note : Total medals (won by individual country) =
Gold Medal + Silver Medal + Bronze Medal

4. The standard protocol of the internet is . (country | Total | Gold | Ratio of silver medal
medals | medals| to bronze medal
(A) Java : .
India 56 12 6:5
(B) Flash Japan | 72 18 - 54
(C) HTML China | 118 31 -2l
(D) TCP/ Korea | 96 26 4:3
). Select the odd one out from the series : 8, 27,100, [ndonesiaj 80 | ,G 8:5
125,216, 343 : 9. Find the average of number of Bronze medals won
by India, Korea and Indonesia taken together in
(A) & Asian Games. |
(B)y 27 (A) 18
(C) 100 (B) 22
(D) 343 (€) 25
(D) 30
SV-14748-B - 2

10. Total number of Silver medals won by Japan and 15,

China taken together is what percentage more or
less than the total number of Bronze medals won
by Korea and Indonesia taken to gether ?

(A) 30%

(B) 40%
(C) 50%
(D) 60% |
11.  Find the ratio of number of Silver medals won by
India to the number of Bronze medals won by
Japan.
(A) 1:1 |
(B) 5:4
(C) 34
(D) 3:2
12. Find the difference between the number of Silver
medals won by Korea and the number of Bronze
medals won by Japan.
(A) 12
(B) 16
(C) 19
(D) 23 _
13. Which pair of words doesn’t match 2
(A) Bomb : Destruction
(B) Ambition : Success
(C) Run: Walk
(D) Crime : Punishment
14. Which of the following pairs of words doesn’t
match ?
(A) Prey : Predator
(B) Pleasant : Unpleasant
(C) Infidel : Believing
(D) Wealthy M.M.E, Tuent
SV-14748-B

16.

17.

18.

19.

IfMADRAS can be written as ARSARS, how can
ARKONAM be written in that code ?

(A) ROAAKNM
(B) ROAKANM
(C) ROAKNNM
(D) ROKANAM

Ifin a certain code, COVET is written as mwgw
which word would be written as SHDUQO 2

(A) STINK
(B) TIEVP
(C) PEARL
(D) REPAY

What number do you get if you divide 18 by 6 and
then multiply the answer by 4 ?

(A) 9
(B) 12
©) 16
D) 18

If'the square has an area of 25m? what is the length

of its sides ?
(A) 2m

(B) 3m

(C) 10m
(D) None of the above

It the difference between a number and its
two-fifth is 30, then the number is

(A) 80
(B) 90
(©) 100
(D) None of the above.
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20. An atrcraft flies 930 miles in 75 minutes. How 25
many miles does it fly in 4 hours 45 minutes

21.

22.

23,

24.

- SV-14748-B

assuming a constant speed ?
(A) 3112
(B) 3477
(C) 3512
(D) 3534

A woman infroduces a man as the son of the brother

of her mother. How is the man related to the
woman 7

(A) Son

(B) Nephew

(C) Grandson

(D) Uncle

Pointing to a man in a photograph, Asha said. “His =

mother’s only daughter is my mother”, How is
Asha related to that man ?

(A) Wife
(B) Sister
(C) Niece
(D) Nephew

Ali went 15 kms to the west from my house, then
turned left and walked 20 kims. He then turned east

and walked 25 kms and mmEG turning left covered
© 20 kms. How far was he from his house ?

(A) 10 kms |
(B) 20 kms :
(C) 30kms

(D) 40 kms

FAG, GAF, HAJ, IAH,

(A) HAL

(B) HAK

(©) JAI

D) JAK

26.

27

28.

29.

Who among the following is/are part of the Sufi
tradition in Kashmiri literature ?

(A) Shamas Fakir
(B) Wahab Khar
(C) Soch Kral

(D) All of the above

Khayyam’s Rubaiyar into Kashmiri and has
recetved the Sahitya Akademi Award for it.

(A) Ghulam Nabi Khayal
(B) Shaif Shauqg
(C) GN. Nadim

(D) None of the above

Which of the following is not spoken in
Kashmir ?

(A) Pashto
(B) Kohistani
(C) Shina
(D) Kinnauri

Who among the following is considered as the
romantic poet of Kashmiri Language ?

(A) Ahad Zargar
(B) Rasul Mir
(C) Wahab Khar

(D) Abdul Ahad Azad

Dictionary of Kashmiri Proverbs and sayings was

written by :
(A) Grierson
(B) Hinton-Knowles

(C) Lawrence

(D) Tyndale Biscoe

is the writer who has translated Omar

D —————

30.

31.

32.

33.

34,

SV-14748-B

Which of the following Kashmiri writers won the 35.

2017 Sahitya Academy Translation Award ?
(A) Shafi Shauq

(B) Farooq Nazki

(C) Autar Krishen Rehbar

(D) Igbal Nazki

Which of the following is not true for Kashmiri ? 36.

(A) Kashmiri has V2 structure
(B) Kashmiri is verb initial language
(C) Kashmiri has Post positions

(D) Kashmiri has both predicative and attributive
adjectives

Which of the following scripts was used for writing
Kashmiri till the 16% century ?

(A) Roman

(B) Devanagri
(C) Sharda
(D) Persio-Arabic

Which of the following is a daily newspaper of

Kashmiri Language ?
(A) Aftab

. (B) Anhar

(C) Aalav
(D) Sangarmal

The famous poem “Manch Tular” is written by
(A) Rahman Dar

(B) Samad Mir

(C) Shams Faqir

(D) Rasul Mir.

37.

38.

39,

snowglu which was in the news this year is :

(A) A glue made from snow

(B) The sticking capacity of snow
(C) Anigloo cafe

(D) A covid medicine frozen to maintain its
efficacy

Hemus festival is celebrated from :
(A) 14 April to 16 April

(B) 20 June to 21 June

(C) 15 Decto 16 Dec

(D) None of the above

Rio Carnival is celebrated in :
(A) Brazil

(B) China

(C) New York

(D) Netherlands

Who represented India in the Slalom events in the
2022 QEEH Olympics ?

(A) Arif Khan
(B) Mahesh Bhupati
(C) Yasin Ahmad

(D) Leander Paes

Which of the following does not belong to the
Dardic Group of languages ?

(A) Kashmiri
(B) Dogri
(C) Kazak
(D) Lahanda

[ Turn over
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In the phrase ‘hehind the door’, ‘hehind’ isalan: 8.
(A) Noun

(B) Verb

(C) Preposition

(D) Adverb

In the sentence, <She is sad’, ‘sad’ 18 afan : 9,
(A) Noun

(B) Adjective

(C) Verb

(D) Preposition

<] like bananas and he likes oranges’ is a: 10
(A) Simple sentence

(B) Compound sentence

(C) Complex sentence

(D) None of the above

‘1 could have won the match’ 1s a:

(A) Past perfective sentence 11
(B) Present progressive sentence

(C) Present perfective Sentencé
(D) Past progressive sentence
which of the following sentences shows the most
appropriate use of the definite article the ?

(A) The catis out of the bag.

(B) Homeless were sheltered in church.

(C) Didyou switch heating on ?

(D) Let’s take children to swimming pool.
Regarding Linguistics, which of the following is the 13
most appropriate ?

(A) Itisthe study of old languages

(B) Itisthe study of modern languages spoken by

people

(C) Itisthe study of communication skills

(D) Itisthe scientific study of language
Semiotics deals with : ‘
(A) Grammar

(B) Meaning

(C) Dictionary

(D) Signs

GN

12

14.

A Lexiconisa:

(A) Book of proverbs

(B) Dictionary

(C) Folksongs book

(D) Thesaurus

Natural Language processing is related to
(A) Animal communication

(B) Study of signs

() Computational linguistics

(D) Historical linguistics

. Who among the following is called the father of

modern linguistics ?
(A) De Saussure
(B) Halliday

(C) Bloomfield
(D) Boas |

_ The word ‘smog’ isa:

(A) Compound

(B) Acronym

(C) Blend

(D) Abbreviation

Which of the following is an example of homonymy 7,
(A) thebullet of arifle

(B) ‘bankof river’ and ‘bank, a financial institution’
(C) ‘sweet’ and ‘sour’

(D) ‘tall,asin height” and ‘black, as in colour”’

_ Which of the following are not synonyms ?

(A) Fertileand fruitful

(B) Water and sea

(C) Kindle and ignite

(D) Brave and courageous

‘kick the bucket’ means :
(A) Tofilla bucket with water

(B) Tooverturna bucket
(C) Todie
(D) Togive birth
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16.

17,

18.

19

20.

Which of the following is the wrong meaning of the
idiom ?

(A) Getout of hand = get out of control

(B) Piece of cake = easy

(C) Beat around the bush = better to arrive late
than not to come at all

(D) Rocket science = complicated

Brexit is about :

(A) British leaving the European Union

(B) The wall at the US and Mexico border
(C) The exit of US from Afghanistan

(D) The exit of US from Iraq

Who was crowned Femina Miss India 2019 ?
(A) SumanRao

(B) Palika Jain

(C) Shivani Jadhavi

(D) Shreya Shanker

Khelo India games were organised at :

(A) New Delhi

(B) Shimla

(C) Gulmarg

(D) Nainital

The Peace deal between the US and Taliban was
signed on :

(A) 29 Feb 2020

(B) 12 Jan 2020

(C) 3 Nov 2019

(D) 4 Sept. 2019

21F

22

23.

24.

25;

What is the NIRF 2019 rank of University of 74

Kashmir among universities in India ?
(A) 25 '
(B) 90 1
(C) 69

(D) 78

JJ-338-A

Which of the following was not a dynasty which
ruled Kashmir ?

(A) Karkota

(B) Utpala

(C) Lohara

(D) Gurjara

In whose time did Kashmir witness Mughal rule ?
(A) Humayun

(B) Babar

(C) Akbar

(D) Jehangir

The moi-i-mugaddas (Hair of the Prophet pbuh)

which is housed in Hazratbal shrine was brought to
Kashmirin :

(A) 1000 CE

(B) 1300 CE

(C) 1500 CE

(D) 1700 CE

In whose time did the Sikhs conquer Kashmir ?
(A) Hari Singh Nalwa

(B) Ranjit Singh

(C) Zoravar Singh

(D) Fateh Singh

The earlier name of the party Jammu and Kashmir
National Conference was :

(A) All Jammu and Kashmir Conference

(B) All Jammu and Kashmir Muslim Conference
(C) Jammu Conference

(D) Indian National Conference

. Which of the following is not an ethnic group of

Jammu and Kashmir ?
(A) Balti

(B) Bhil

(C) Shina

(D) Pahari

[Turn over



27.

28.

29

30.

2l

39
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Which of the following is not spoken in Jammu and 34.

Kashmir ?

(A) Pashtu

(B) Kohistani

(C) Shina

(D) Kinnauri

The term jirga is associated with :

(A) Pahari culture

(B) Pashtu culture

(C) Kinnauri culture

(D) Dogra culture

Burushaskiisa:

(A) Language

(B) Wedding dress

(C) Headgear

(D) Type of dish

Nilmat purana s :

(A) Anancient text from Kashmir

(B) Poetry of Lal Ded

(C) The land between Jammu and Kashmir

(D) An anthology of late 16% century
Dictionary of Kashmiri proverbs and sayings was
written by :

(A) Grierson

(B) Hinton-Knowles

(C) Lawrence

(D) Tyndale Biscoe

The book Valley of Kashmir was written by :
(A) Grierson

(B) Nadim

(C) Lawrence

(D) Kachru
Kashmiriisa:

(A) Verb second language
(B) VSO language

(C) Prepositional language
(D) Agglutinative ¢

os

35,

36.

37.

38.

Siok

The earliest script used to write Kashmiri was the :
(A) Roman script

(B) Persio-Arabic script

(C) Kharoshthi script

(D) Sharda script

The word which will be difficult to pronounce for
most non-native speakers of Kashmiri will be :

(A) Khar ‘donkey’

(B) Tsaas ‘cough’

(C) Pal ‘boulder’

(D) Tul ‘pick’

inertia means :

(A) Continuing in its existing state of rest or uniform
motion

(B) Speed in a particular direction

(C) Gravitational pull of the moon

(D) The temperature at which irons melts

Which of the following is a vector quantity ?

(A) Distance

(B) Time

(C) Mass

(D) Weight

The chemical name of common saltis :

(A) NaCl

(B) KMnO,

(C) KCI

(D) MgO

Which of the following metals is present in

Chlorophyll ?

(A) Magnesium

(B) Boron

(C) Iron

(D) Sodium



40.

41.

42.

43.

44

45.

JJ-338-A

Which of the following belongs to the phylum 46.

Annelida ?

(A) Ladybird

(B) Silverfish

(€) Leech

(D) Firebrat

Whose poetry is popularly refered as vaakhs ?
(A) Lal Ded

(B) Rasul Mir

(C) Mehjoor

(D) Wahab Khaar

Who among the-following is considered as a
romantic poet of Kashmiri Language ?

(A) Ahad Zargar

(B) Wahab Khaar

(C) Abdul Ahad Azad

(D) Rasul Mir

The famous song walo ha bagwaano, nov
bahaaruk shaan paeda kar is written by :

(A) Mehjoor

(B) Rehman Dar

(C) Samad Mir

(D) Arnimaal

Which of the following received the 2019, Ramon
Magsaysay award ?

(A) Ravish Kumar

(B) Srinivasan Jain

(C) Nidhi Razdan

(D) Prannoy Roy

IPL. India Award for Excellence in Journalism, 2019,
was awarded to :

(A) NDTV -

(B) Aaj Tak

(C) Zee News

(D) IndiaToday

S wn

47.

48.

49.

50.

G. Subramania Iyer was the founder of which
English Daily ?

(A) The Times of India

(B) Hindustan Times

(C) The Pioneer

(D) The Hindu

A personal website or social media account where
a person regularly posts short videosisa:

(A) Blog
(B) Vlog
(C) Chat
(D) Podcast
Hypertext is :

(A) Text on a webpage that links to another
document or webpage

(B) Text which has no dictionary meaning
(C) Text which leads to the internet access
(D) Text which is scrambled

A man is facing North-West. He turns 90 degree in
the clockwise direction, then 180 degree in the
anti-clockwise direction and then another 90 degree
in the same direction. Which direction is he facing
now ?

(A) South

(B) South-West

(C) West

(D) South-East

The missing pair of letters in the series AC, FH,

(A) UW
(B) VW
(C) UX
(D) TV
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Consider the pair of words : Pulp, Paper. These 56.

two words are related to each other in some way.
Choose the word, from the following four, which
bears a similar relationship to the word, Hemp.

(A) Basket
(B) Yarn
(C) Rope
(D) Cotton

BEGK is related to ADFJ in the same way as PSVY
is related o ..o

(A) LOQT

(B) ROUX

(C), OTUZ

(D) ORUX |

Given below are four pairs of words out of which
the words in all pairs, except one, bear a certain
common relationship. Choose the pair in which the
words are differently related.

(A) Petrol, Car

(B) Ink,Pen

(C) Garbage, Dustbin

(D) Lead, Pencil

If the sum of five consecutive odd numbers is 225,

then the sum of the next five consecutive odd
NUMDbELS 1S ........

(A) 275
(B) 300
(C). 325
(D) None of the above

If the difference between a number and its three-
fifth is 40, then the numberis .......

(A) 80
(B) 90
(C) 100
(D) None of the above

oo

The average age of a committee of 8 members of a
governing body is same as it was 3 years ago, a
younger member having been substituted for one
of them. How much younger is he to the member
whose place he took ?

(A) 16 years

(B) 20 years

(C) 24 years

(D) 32 years

. Which of the following is not a modal ?

(A) Can
(B) Might
(C) Slay
(D) Would

. The branch of linguistics which is concerned with

arrangement of words and phrases in sentences is :
(A) Syntax

(B) Semantics

(C) Phonology

(D) Morphology

. Which of the following is not a festival of Ladakh ?

(A) Losar

(B) Yurukabgyat
(C) Chrewal

(D) Phyang Tsedup

. The last Maharaja of the Princely State of Jammu

and Kashmir was :
(A) Zorawar Singh
(B) Hari Singh

(C) Karan Singh
(D) Gulab Singh



The categories of number of gender are associated
with:
(A)
®)
(C) Conjunctions

(D) Verbs

A___ ofmosquitoes followed him.
(A) bunch

(B) band

(C) swarm

D)
Which of the following is a past perfective sentence ?
(A) Isawhim yesterday.

(B) Hewill be ruined.

(C) He hasbeen caught red-handed.

(D) Ihad done it when he called.

In which of the ffollowin'g sentences is the definite
article used incorrectly ?

A)
B)
©
D)

Nouns
Adjectives

mob

Ilove listening to the music.

He is the best teacher in the school.
He has serving in the Middle East.
The Nile is a major river flowing north-eastern
Africa.

Morphology deals with :

(A) Sentences

(B) Meaning _

(C) "Words +

(D) Language

Semantics is the study of :

(A) Sound

(B) Structure

(C) Culture

(D) Meaning

Vaakyapadiya is ascribed to :

(A) Panini

®) Bhartihari

(C) Valmiki

(D) Nirukta

- FDM-2580-A
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'(B)

is the study of relationship between

linguistic behaviour and psychological processes,
including the process of language acquisition.

(A) Psycholinguistics

(B) Sociolinguistics

(C) Forensic Linguistics

(D) Ethnolinguistics

The word ‘late’ can be changed into noun by adding
the following suffix :

(A) -ness

®) -y

(C) -ed

(D) -ment

Which of the following is a homonym ?
(A) hear

B) sword

(©) ink

D) pen

“Itchy Feet” means :

(A) A strongimpulse to travel

(B) AchingFeet

(C) Catchy Feet

(D) Dirty Feet
Which one of the following is the synonym of

‘ardour’ ?
(A) composure
insensitivity
(C) odour
D)

Who, among the following Kashmiri writers, won
the 2017 Sahitya Academy Translation Award ?
(A) Shafi Shauq

(B) Faroq Nazki

(C) AutarKrishen Rehbar

(D) Igbal Nazki

passion
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15.
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17.
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is the Vice Chancellor of Cluster
University, Srinagar. '
(A) Prof. Khurshid Iqbal Andrabi
(B) Prof. Javed Musarat
(C) Prof. Sheikh Javed Ahmed
(D) Prof. Mushtaq A. Siddigi
India qualified for the final of the 2017 ICC
Champions Trophy in cricket by defeating
(A) Pakistan
(B) Bangladesh
(C) Australia
(D) England
Which party emerged as the largest partyinthe 2017
assembly elections in Punjab ?
A -BIP . %
B) Congress ()
(C) AAP
(D) BSP
Who was the first Muslim Sultan of Kashmir ?
(A) ShahMir
(B) Zain-ul-Abidin
(C) Ghazi Chak
(D) YousufShah
Who is generally regarded as the founder of the old
city of Srinagar called Pandrethan ?
(A) Lalitaditya
(B) Ashoka
(©) Kanishka
(D) Gonandall
Who was the last ruling Maharaja of Jammu and
Kashmir ?
(A) Ranbir Singh
(B) Pratap Singh
(C) HariSingh
(D) GulabSingh
The Simla aéreément was signed on :
A) July2,1972
B) June2,1972
(C) August2,1972

D) July2,1971

FDM-2580-A

W

21.

N

23.

47,

.5

The Governor of J & K may resign from his office in
writing addressed to the :

(A) President of India

B) PM,of India

(C) CJ.ofIndia

(D) ChiefMinister

With whose birth is the ceremony of Kah-naether
associated ?

(A) Hindubaby

(B) Sikhbaby

(©) Muslim baby

(D) Ladakhi baby

Which section of the Constitution provides that the
official language of the Jammu and Kashmir State
shall be Urdu ?

(A) Section 142

(B) Section 145

(C) Section 148

(D) Section 150

What is Chang ?

(A) Ladakhi Musical Instrument

(B) Ladakhi Liquor

(C) Ladakhi Song

(D) Ladakhi Dress

Kashmiri and Shina belong to which of the following
language families ?

(A) Tibeto-Burman

(B) Dravidian

(C) Hamito-Semitic

(D) Dardic

The genre of poetry used by Lalla Dyed is known
as:

(A) Vaakh

(B) Shruk

(C) Ghazal

(D) Qasida

Perso-Arabic script is used for which ofthe following
languages ?

(A) Urdu

(B) Persian

(C) Kashmiri

(D) Allofthese
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Which of the following is a dialect of Kashmiri ?
(A) Shina

(B) Kohistani

(C) Dogri

D) Poguli

Burushaski belongs to which of the following language

families ?

(A) Indo-Aryan
(B) Dardic
(C) Dravidian

(D) None ofthese

In Kashmiri language, the adjective :
(A) Precedesthe Noun

(B) Follows the Noun

(C) Precedes the Pronoun

(D) Precedes the Verb

Who is the author of the book “Valley of Kashmir’ ?

(A) Auriel Stein

(B) Walter Lawrence

(C) GeorgeA. Grierson

(D) Abdul Ahad Azad

Kashmiri has the following word order :
4) SOV - - :

B) SvVO

(©) OVS

(D) None of these

Knot is a unit of speed of which of the following ?
(A) Ship

(B) Light Waves

(C) Sound Waves

(D) Aeroplane

Balloons are filled with

(A) Nitrogen

(B) Helium

(C) Oxygen

(D) Argon

FDM-2580-A
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The yellow colour urine is due to the presence of :
(A) Bile

(B) Lymph

(©) Urochrome

(D) Cholesterol

Mintisa:

(A) Grass

(B) Herb

(C) Shrub

(D) Tree

The broadcasting organisation Doordarshan was

established in the year :

(A) 1952

B) 1955

(C) 1959

D) 1961

Radio Kashmir, Srinagar was founded on :
(A) 1stJuly, 1948

(B) 1stSeptember, 1948

(C) 1stNovember, 1948

(D) 1stJanuary, 1950

‘Who brought out the famous newspaper A-Hilal ?

(A) Hasrat Mohani

(B) Abul KalamAzad

(C) Maulana Muhammada Ali Jauhar
(D) Sir Syed Ahmed Khan

HTML stands for :

(A) Hypertext Markup Language

(B) Hyper Marking Language

(C) Hypertext Mekeup Language
(D) None of these



Find the odd one out in the following questions :

41. W)

®)
©)
)
A)
®B)
©
)
A
(B)
©
)
A)
®)
©
D)

‘Hawk -
Parrot
Falcon
Eagle
Book
Chapters

42.

Pages
Index
CIF
H20L
N31Q
E29Y
43

<)

63

73

44.

Directions : The following table shows production of
cars in a company from 1979-1984. Study it carefully

and answer questions from 45-48.

Year (1979 | 1980 | 1981 | 1982 | 1983 | 1984
A 8 20 16 17 | 21 6
B 16 10 14 12 12 14
C 2l 17 16 15 13 8
D 4 6 10 16 | 20 31
E 23 18 19 30 14 .4
Total | 74 71 13. 90 80 86

45. Inwhich year, the production of all types of cars  5¢
taken together was approximately equal to the .
average of the total production during the period ?

(A) 1979

B) 1981
(C) 1983

D) 1984

FDM-2580-A
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48.
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50.

In which year, the total production of cars of types A
and B together was equal to the total production of
cars of typesCand D ?

(A) 1980 =

B) 1981

(C) 1984

(D) None of these

There was a continuous increase in production of
cars of which type during the period 1979-84 7
A A

® B

© C

®) D

The per cent increase in total production ofall types
of cars in 1982 to that in 1981 was :

A) 15

®) 20

©) 25

D) 50

AB B B, C B.D,B,E B, oo

A) E

® D

© C

D) F

I started walking towards East and after walking
20 m, turned to my left and walked 15 m. Then, I
turned to my left and walked 20 m. Again I turned to
my left and walked 15 m. Now, I am walking in
which direction with respect to the starting point ?
(A) South |

(B) North

(C) East

D) West

Pointing to a gentleman, Kareem said, “His only
brother is the father of my daughter’s father.” How
is the gentleman related to Kareem ?

(A) Father

(B) Grandfather

(C) Uncle

(D) None of these

[Turn over
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33.

54.

D

‘Hour’ is related to ‘Second’ in the same way as
“Tertiary’ isrelated to : t

(A) Ordinary

(B) Secondary

(C) Primary

(D) Intermediary

Find the number of triangles in the given figure :

Woa "

@A) 8
@) 10
©) 12

D) 14

A picture is copied onto a sheet of paper 8.5 inches
by 10 inches. A 1.5 inch margin is left all around.
What area in square inches does the picture cover ?

(A) 76
®B) "35
C) 49
D) 385

Three different positions X, Y and Z of a dice are
shown in the figures given below. Which number lies

opposite 6 ?
<2>

@A) 1
B) 2
© 4
D) 5

FDM-2580-A" -
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37,

58.

39,

60.

A dice is numbered from 1 to 6 in different ways. If
1 is opposite to.5 and 2 is opposite to 3, then :
(A) 4isadjacentto 3 and 6
B) 2isadj acént to 4 and 6
(C) 4isadjacentto5and6
(D) 6isadjacentto 3 and 4
Identify the missing number in the series :
By s Sommanst s 18,17

O) 1
On 8th February, 2005 it was Tuesday. What was
the day of the week on 8th February, 2004 ?

(A) Tuesday

(B) Monday

(©) Sunday

(D) Wednesday :

If56 x11=9,37%x13=6,42 x 12=3, then find
the value of 87 x 77 :

A 1

®) 3

©) 4

D) 5

One fifth of a number exceeds its one seventh by

* 154. Find the number.

(A) 2695
B) 2606
(C) 2700
@) 350
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10. Calculators and mobiles shall not be permitted inside the examination hall.
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MLA. Linguistics/A

are used to provide more information about the actions and events.

(A) Nouns (B) Adjectives E

(C) Adverbs (D) Verbs |
“The two cars were involved ina head collision.” Add a preposition from the
list below to the given sentence to complete appropriate comp&und adjective.

(A) back B) of

(C) on (D) off
My wife and [ in Italy two weeks ago. We went there to ski.

(A) havebeen (B) are

(C) were (D) willbe

In which of the following sentences is the definite article used incorrectly ?
(A) The ThardesertisinIndia (B) Rahimis the elder of the two
(C) They crossed the Pacific Ocean (D) Sevendays make the week

Linguistics is the study of :
(A) Behaviour (B) Culture
(C) History (D) Language
: 1
Semantics deals with : f
(A) Sound (B) Structure |

(C) Culture (D) Meaning |
The oldest Indian linguistic textis : q

(A) Ashtadhyayi (B) Mahabhashya

(C) Kasikavritti (D) Nirukta |

The application of linguistic theories and methods to the analysis oflanguage of literature

is known as !
(A) Lexicography (B) Anthropology
(C) Stylistics (D) Ethnolinguistics

The word ‘abridge’ can be changed into noun by adding the following suffix :

(A) -ness (B) -ment
(C) -ed (D) -ism
CWG-33114-A
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10. The antonym of “pack’ can be made by adding the following prefix :

(A) in- (B) be-
(C) un- (D) None of'these

11. “Feelallin” means:
(A) Extremely happy (B) Exhausted |
(C) Disgusted (D) Satisfied

12. Which one of the following is the synonym of ‘Emulate’ ?
(A) Eliminate (B) Emerge
(C) Impart (D) Imitate

13. Who, among the following Kashmiri writers, won the 2014 Sahitya Academy award ?

(A) Rehman Rahi (B) Shad Ramzan

(C) Moti Lal Saqi (D) Mohi-ud-Din Reshi
14. is the Vice Chancellor of University of Jammu.

(A) Prof. Amitabh Matto (B) Prof. SudhirK. Jain

(C) Prof. Mohan Paul Singh Ishar (D) None of'these

15. Whichofthe following parties formed government in Pakistan after the parliamentary
clections held in the year 2013 ?
(A) Pakistan Peoples Party (B) Tehreek-e-Insaaf
(C) Muhajir Qaumi Movement (D) Pakistan Muslim League (N)

16. Which party emerged as the largest party in the 2015 assembly elections in
Delhi ?
(A) BIP ~ (B) Congress (I)
(C) AAP (D) BSP

17.  Inwhich century Chinese traveller Huen Tsang visited Kashmir ?
(A) 7" Century AD (B) 8"Century AD
(C) 9" Century AD (D) 10" Century AD

18. The great sultan Zain-ul-Abdin belongs to which dynasty ?

(A)  Shahmiri (B) Chak
(C) Deva (D) Lohara
CWG-33114-A [Turn over
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19. Shimla Agreement was signed on: ‘
(A) 15 July, 1971 (B) 2July, 1972
(C) 5June, 1973 (D) 10 June, 1974
20. Jammu and Kashmir Muslim Conference was formedin :
(A) 1920 (By< 1923
(C) 1930 D) 1932
?
21. Which of the following surnames is used by both Kashmiri Muslims and Hindus ?
(A) Bhat (B) Sheikh
(C) Andrabi (D) Fazli
22. Shinaisadominant languagein:
(A)  Gurez (B) Udhampur
(C) Ramban (D) Kulgam
23, Inthe Constitution of Jammu and Kashmir, R. P. C. stands for : |
(A) Ranjit Penal Code (B) Ranbir Penal Code
(C) Rashtriya Penal Code (D) None of these
24. Whatis ‘Chang’ ?
(A) Ladakhi Musical Instrument (B) Ladakhi Song
(C) Ladakhi Dress (D) Ladakhi Liql‘mr
25. Kashmiri belongs to which of the following language family ? |
(A) Dardic (B) Dravidian |
(C) Germanic (D) Austro-Asiatic
26. The word order of Kashmiri is:
(A) SOV (B) SVO
(C) VSO (D) VOS
CWG-33114-A

S



27.  Which of the following scripts was used for writing Kashmiri till 16" century ?
(A) Roman (B) Devnagri |
(C) Sharda (D) Perso-Arabic

28. Poguliisadialect of:
(A)  Punjabi (B) Pahari
(C) Dogri (D) Kashmiri

29. The famous poem ‘MANCH TULAR has been written by: |
(A) Rahman Dar (B) Shams Fagir
(C) Rosul Mir (D) Samad Mir

30.  Who is the author of ‘Mahanaya Prakash’ ?
(A) Kalhana (B) Shati Kanth
(C) Abdul Ahad Azad (D) Aryabhatta

31. The mathnavi ‘Heemaal Naagraay® has been written by:
(A) Magbool Shah Kralwari (B) Waliullah Mattu

(C) Mehmood Ghami (D) Abdul Ahad Nazim

32, Which one of the following is an 18 century poet of Kashmiri language ?
(A) Mahmud Ghami (B) Rehman Rahi
(C) AminKamil (D) Ahad Zargar

33.  Which of'the following is not an isotope of hydrogen ?
(A) Protium (B) Yttrium

(C) Deuterium (D) Tritium

34. The filament of an electric bulb is made of :

(A) Iron (B) Nichrome
(C) Tungsten (D) Graphite
CWG-33114-A [Turn over
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35.  Which ofthe following is essential for blood clotting ?
(A) RBC B) WBC
(C) Blood Platelets (D) Lymph

36. The fastest growing plantis :
(A) Arecanut (B) Mango
(C) Eucalyptus (D) Coconut

37. When was the Mumbai branch of Doordarshan inaugurated ?
(A) 1969 B) 1970
©) 1972 (D) 1974

38. Where was the highest AIR station set up in 19717
(A) Mumbai (B) Leh
(C) Himachal (D) Nainital

39.  Which of the following is a daily newspaper of Kashmiri language ?

(A) Aftab (B) Sangarmaal|
(C) Anhaar (D) Aalove
40. URLmeans:
(A) Uniform Resource Locator (B) Union Resqurce Locator
(C)  UnitResource Locator (D) Uniform Reserve Locator

In the following questions (Q. 41 to 44), find the odd one out :

41. (A) Carpenter (B) Potter
(C) Mason (D) Farmer |
42. (A) Rose (B) Lily
(C) Tulip (D) Lotus
43, (A) CEI B) QSX
(¢) ILP D) QSW
44, (A) 13-156 B) 12-144
(C) 15-180 D) 16-176
CWG-33114-A
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Study the data given in the following table carcfully and answer the questions

45 to 48 given below it.

States 1986 1987 1988 1989 1990
A al- 187 89 116 Ba
B 145 163 162 164 168
C 149 157 168 169 118
D 76 - 84 74 72 . Bb
E 210 26 232 222 139

45. In 1988, which state contributed close to one-eighth of the total production of all the

five states ?
@A) A B) B
€ C D) D

46. Inwhich state, the production in 1989 showed the highest increase over that in19867

(A) A B) B
© C D) D

47. Inwhich year does the production in state E show the higher percentage of increase

over that in the previous year ?
(A) 1986 (B) 1987
(C) 1988 (D) 1990

48. Tnwhich state did the production of wheat increase continuous

@ A ®) B
i ® D

49 Tind the next two terms in the Series :A, C, F,J iy

@A) L,P ® M. 0
(). O ®) RV

CWG-33114-A
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50. Sixstudents A, B, C, D, E and F are standing in a row. B is between F and D. E1s
between A and C. A does not stand next to either F or D. C does not stand next to
D. Fis between which of the following pair of students ?
(A) BandD (B) BandA
(C) BandE (D) BandC
51. AisB’ssister. C is B’s mother. D is C’s father. E is D’s mother. Then, how s A
related to D ?
(A) Grand Mother (B) Grand Father
(C) Daughter (D) Grand Daughter
52. Cobrais related to Snake in the same way as Leopard is related to
(A) Tiger (B) Lion
(C) Cat (D) Zebra
53.  Which symbol in the Answer Figure completes the sequence in the Problem Figure ?
Problem Figure Answer Figure
A) B) (©) (D)
54. Which figure completes thc series ?
[
A B C D
F |
|
55. Select the odd one out.
A B C D E
CWG-33114-A
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56.

Which figure completes the series?

M
5

57. Identify the next number in the series :
W O
(A) 6l (B) 65
<) 59 D) 90
58. A train covers a certain distance in 50 minutes if it runs at a speed of 48 kms per
hour. The speed at which the train must run to reduce the time of journey to
40 minutes will be :
(A) 50 km/hr (B) 55km/hr
(€) 60km/hr (D) 70 km/hr
59. If25x35=78,thend45 x52= 7
(A) 97 (B) 2001
{C) 106 (D) 710
60. How many numbers from 1 to 100 can be divided by 8 whose at least one digitis 8 ?
A) 4 B) 3
€ 8 D) 6
CWG-33114-A
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__areused to provide more information about the actions and cvents,
(A) Nouns (B) Adjectives

(C) Adverbs (D) Verbs
“The two cars were involvedinahcad ~ collision.” Add a preposition from

the list below to the given sentence to completc appropriate compound adjective.

(A) back (B of
(C) on (D) off
Mywifeandl _ in Italy two weeks ago. We went there to ski.
{A) havebecn (B) are
(C) were (D) willbe

In which of the following sentences is the definite article used incorrectly ?
(A) The Thar desertis in India. (B) Rahim is the clder of the two.
(C) They crossed the Pacific Occan. (D) Scven days make the week.

[inguistics is the study of:

{A) Behaviour (B) Culture

(C) History (1) language
Semantics deals with:

(A) Sound (B) Structure

(C) Culture () Meaning

The oldest Indian linguistic text is:
(A) Ashtadhyayl , (3) Mahabhashya
(C) Kasikavnitu (D) Nirukia

The application of linguistic theories and methods to the analysis of language of litcrature

isknownas:
(A) Lexicography (B) Anthropology
{C) Stylistics (D)  Fthnolinguistics

CNW-26044-A 12]
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9.  ‘T'he word "abridge’ can be changed into noun by adding the following suftix:
(A)  -ness (3} -ment
(Cy -ed (1Y) -ism

10. The antonym of "pack’ can be nadce by adding the following prefix:
Ay m- (B3) be-
(C) un- (D)} Noncofthese

11. “Feelallin™ mcans:
(A)  Extremcly happy (B) Exhausted

(C) Dispusted (D) Satisfied

12.  Which ofthe [ollowing 1s the synonym of *Emulate’ ?

(A) Eliminatc (B) Iimerge
(C) Impan (1?) Imitate

13.  The famous poem "MANCH TUILLAR™ has been written by:
(A)  Rahman Dar (B) Shamslaqir
(C)  Rosul Mir (D) Samad Mir

14.  Who s the author of “Mahanaya Prakash™
(A) Kalhana (B) Shati Kanth
(C) Abdul Ahad Azad (D) Aryabhatta

15.  The mathnavi ‘Heemaal Naagraay™ has been written by:
(A} Magboo! Shah Kratwari (BY Waliullah Mattu
(C)  Mehmood (Ghami (D) Abdul Ahad Navzim

16.  Whichone ol the following is an 18th century poct of Kashmin Language ?
(A) Mahmud Ghami (B) Rchman Rahi
(C)  AminKamil (D)) Ahad Zargar

17.  Who, among the tollowing Kashmiri writers, won the 2013 Sahitya Academy award:

(A) RehmanRahi (B)  AminKamil
(C) MotiLal Saqi (1))  Mohi-ud-Din Reshi
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18.

19.

25.

. _isthe Vice Chancellor of University of Jammu.

(A) Prol. Amitabh Matto (BB) Prof. Sudhir K. Jain
{Cy Prol.R.D, Sharma (I Dr.S.S. Beloria

Which of the folfowing parties lformed government in Pakistan afler the parliamentary
clections held in the year 2013 7
(A} Pakistan Pcoples Party {3) ‘Tchreek-c-Insaal

(CYy  Muhgjir Qaumi Movement (1)) Pakistan Muslim League (N)

Which party emerged as the single largest party in the 2013 assembly elections n
Delhi.

(A} BIP (13) Congress (1)

(C) AAP (D) BSP

[n which century Chinese traveller Huen Tsang visited Kashmir ?
(A)  TthCentury AD (B) 8th Century AD
{(Cy  9thCentury AD (13y 10th Century AD

The great sultan Zain-ul-Abdin belongs to which dynasty:
(A Shahmin (B) Chak
(Cy Deva (D) TLohara

Shimla Agreement was signed on:
(A) 15 July, 1971 (B) 02 July, 1972

(C)  5Junc.1975 _ () 10 June. 1974

Jammu and Kashmir Muslim Conference was tformed in:

(A) 1920 By 1925
(Cy 1930 (M 1932
Gojri languagte is primarily spokenin -~ districtof J& K.
(A)  Budgam (B) Doda
(C) Rajoun (D) Bandipora
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26.

27.

28.

29.

30.

31.

32.

33.

34.

‘Laddishah’ in Kashmir is arepresentativeof |
(A) Politicians (B) Policce

(C) Poets (D) People
Anand Karajisthe  marriage ceremoy :
(A) Sikh (B) Hindu
(C) Budist (D) Jain
Among all the Schedule Tribes___ is the most populous Tribe in J & K -
(A) Bakarwal (B) Bot

(C) Gujjar (D) Gaddis

Kashmiri belongs to which of the following language family ?
(A) Dardic - B) Dravidian
(C)  Germanic (D) Austro-Asiatic

‘The word order of Kashmiri is:
(A) SOV (B) SVO
(€©) VSO D) VoS

Which of the following scripts was used for writing Kashmiri till 16th century ?

(A) Roman (B) Devnagri |
(C) Sharda (D) Perso-Arabic
Poguli is a dialect of;
{A) Punjabi (B) Pahari
(C) Dogri (D) Kashmin
Which of the following is not an isotope of Hydrogen?
(A) Protium (B) Yitrium
(C) Deuterium (D) Tritium

The filament of an ¢lectric bulb is made of:
(A) Iron (B) Nichrome
(C) Tungsten (D) Graphite

CNW-26044-A (5]
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35.

36.

37.

38.

39.

40,

Which of the following is essential for blood clotting?
(A) RBC B) WBC
(C) Blood Platelets (D) Lymph

The fastest growing plant is:
(A) Arecanut (B) Mango
(C) Eucalvptus (D) Coconut

When was the Mumbai branch of Doordarshan inaugurated?
(A) 1969 B) 1970
(C)y 1972 D) 1974

Where was the highest AIR station setupin 19717
(A)  Mumbai (B) Leh
(C) Himachal (D) Nainital

Which of the following is a daily newspaper of Kashmini Language ?

(A) Aftab (B) Sangarmaal
(C) Anhaar () Aalove
URL means:
(A) Uniform Resource Locator (B) Union Resource Locator
(C) Unit Resource f.ocator (D) Uniform Reserve Locator

In the following questions, find the odd one out:

41.

42,

43.

44.

(A) Carpenter (B) Potter
(C) Mason (D) Farmer
(A) Rose (B) Lily

(C) Tulip (D) Lotus
(A) CEI B) QSX
(Cy JLP (D) QSW
(A) 13-136 B) 12-144
(C) 15-180 > 16-176
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Study the data given in the following table carefully and answer the questions

45 to 48 given below it.
States 1986 1987 1988 1989 1990
A 9.0 10.7 8.9 11.6 8.4
B 14.5 16.3 16.2 16.4 16.8
C 149 15.7 16.8 16.9 17.8
D 7.6 8.4 7.4 7.9 8.6
E 21.0 22.6 232 222 239
45.  In 1988, which state contributed closc to one-cighth of the total production of all the
five states?
(A) A B) B
€ C (D) D
46. In which state, the production in 1989 showed the highest increase over that in
19867
(A) A B B
(C) C D) D
47.  Inwhich year does the production in state E show the higher percentage of increase
over that in the previous year:
(A) 1986 ' {B) 1987
(C) 1988 D) 1990
48. Inwhich statedid the production of wheat increase continuously from 1986 to 19907
(AY A (B) B
{C) C D) D
49. Find thcnexttwo terms inthe Series: A, C,¥,J,
Ay L,P @) MO0
) O,uU D)y RV
CNW-26044-A [7]
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50. Sixstudents A, B,C,D, E and F are standing in a row. B is between Fand D. E is
between A and C. A does not stand next to either I or 1. C does not stand next to D.
F is the between which of the following pair of students?
(A) BandD (B) BandA
(C) BandE (D) BandC |

51. AisBssister. C is B’s mother. Dis C’s father. Eis D's mother. Then, how is Arelated

to D?
{A) Grand Mother {(B) Grand Father
(C) Daughter (D) Grand Daughter

52. Cobraisrelated to Snake in the same way as [.eopardisrelatedto
(A) Tiger (B) Lion
(C) Cat (D) Zebra

53.  Which symbol in the Answer Figure éompletes the sequence in the Problem Figure?

Problem Figure Answaer Figure
X o] X |»< L[> X [»<
A B C

54. Which figure completes the series?
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55. Select the odd onc out. :
A B C D E
56. Which figure completes the scrics?
57. Identify the next number in the series:
78,65,75,62,72
(A) 61 B) 65
(C) 59 D) 90
58. A train covers a certain distance in 50 minutes if it runs at a speed of 48 kms per
- hour. The speed at which the train must run to reduce the time of journey to 40
minutes will be
{A) S50km/r (B) S55km/hr
{C) 60km'r (D) 70km/hr
59. 1f25+*35=78, then 45%52="
(A) 97 (B) 2001
(C) 106 (D) 710
60. How many numbers from 1 to 100 can be divided by 8 whose at least one digit is 87
(A) 4 B) 3
C) 8 M) 6
CNW-26044-A {9]
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Which of the following parts of speech can show temporal properties ?
(A) Adjective (B) Adverb
(C) Verb (D) Noun

In an English sentence, an Adjective can :
(A) occur before anoun
(B) occur aftera verb
(C) occur before a noun and/or after a verb
(D) none ofthe above

Which of the following is a past perfective sentence ?
(A) Heisaboy (B) ' He had eaten a cake
(C) Heate acake (D) He had been eating a cake

Which of the following sentences is ungrammatical ?
(A) John ate the cake
(B) Girl ate the cake
(C) Cakes are the best diet
(D) Theboy who hit the girl is my friend

Linguisticsis not :
(A) related to language (B) astudy oflanguage
(C) related to a scientific study (D) anyrandom study

Lexicography can also be called a/an :
(A) Dictionary making (B) Encyclopedia building
(C) Poetry writing (D) Drama/play writing

The father of modern linguistics is :

(A) Bloomfield (B) Chomsky
(C) Hockett (D) Saussure

Natural Language Processing can also be called :

(A) Historical linguistics (B) Computational linguistics
(C) Languageteaching (D) Language disorders
CLM-53711-A
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9. Anexample of suffixation is observed in the following word :
(A) Unkind (B) Men
(C) Likely (D) Blame

10. Anexample ofhomonymy is :
(A) River bank vs Financial bank (B) Crocodile vs Alligator
(C) Lionvs Tiger (D) Lotus vs Rose

11. Anexample of antonymy is : '
(A) TallvsLarge (B) Tall vs Short
(C) BigvsLarge (D) Prime vs Minister

12.  ‘to kick the bucket’ means :
(A) Todie (B) To be thirsty
(C) Tobe satiated (D) To be ablacksmith

13.  Which political personality was part of a rally in Jammu on 1% December 2013 ?
(A) Jayalalitha (B) S.C.Bose
(C) Narender Modi (D) Sonia Gandhi

14.  What was music composer Zubin Mehta’s performance in Kashmir in September 2013

named ?
(A) EhsaasiKashmir (B) JashniKashmir
(C) Sarmay i Kashmir (D) AtishiKashmir

15. Anannual festival Stok Guru Tse-Chu held on the 9" and 10® day of the first Tibetan
month during which monks of “Spituk’ monastery perform sacred dances is held in

the village of :
(A) Gumu (B) Stok
(C) Tse-Chu (D) None ofthe above

16. Recently Philippines was in news in November 2013 because of devastation by a
Typhoon. What was the name given to the typhoon ?
(A) Katrina B) Sheila
(C)  Uring (D) Haiyan

CLM-53711-A [Turn over
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17.  Which of the following were not one of the dynasties ruling Kashmir ?
(A) Utpala (B) Karkota
(C) Lohara (D) Parmara
18. To whom was the poetess Queen Habba Khatoon married ?
(A) Sikander Shah (B) Zain-ul-Abidin
(C) Rinchan Shah (D) YusufShah
19. The rulers of Kashmir in 1945 were :
(A) Afghans (B) Sikhs
(C) Dogras (D) Kashmiris
20. Who headed the new government of Jammu and Kashmir in 1953 ?
(A) Bakshi Ghulam Mohammad (B) Sheikh Muhammad Abdullah
(C) AfzalBeg (D) YusufShah
21. Kashmiri shares its V2 structure with :
(A) Icelandic (B) Punjabi
(C) Hindi (D) Urdu
22. Kashmiri morphologyis :
(A) Rich (B) Poor
(C) Very poor (D) Non existent
23.  Which of the following scripts is not associated with Kashmiri language ?
(A) Sharda (B) Persio Arabic
(C) Devanagri (D) Tibetan
24. Kashmirihas:
(A) Postpositions (B) Prepositions
(C) Bothpost-and pre- positions (D) Neither post- nor pre- positions
25. ‘Mahanaya Prakasha’ is:
(A) The name of the Hindu deity whose temple is found in Habba Kadal
(B) The time in the Hindu calendar when the snow is supposed to fall
(C) Anearly piece of Kashmiri literature
(D) The time when the sun reaches its zenith
CLM-53711-A 4
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26. ‘Shruk’ is associated with :
(A) NundRishi (B) AgaShahidAli
(C) HabbaKhatoon (D) Rasool Mir
27. ‘Rajtarangni’ was written by :
(A) AryaBhatta (B) Panini
(C) Suya (D) Kalhana
28. Jonarajaand Srivara were :
(A) Famed astronomers (B) Writers of continued Rajtarangni
(C) Commentators of Ashtadhyayi ~ (D) Teachers of Nund Rishi
29. “Toevery action there is an equal and opposite reaction’ is Newton’s :
(A) Firstlaw of motion (B) Second law of motion
(C) Third law of motion (D) Law of gravitation
30. Analkali has pH value :
(A) Morethan7
(B) Lessthan7
(C) Sometimes more than and sometimes less than 7
(D) None ofthe above
31. Who among the following is associated with discovery of circulation of blood ?
(A) William Harvey (B) Humphery Davi
(C) Christian Bernard (D) Marie Curie
32. Cambiumis:
(A) Alayerofthe plant containing actively reproducing cells
(B) The outermost layer of cells of leaves
(C) Thecells surrounding the stomata
(D) Alayer ofthe plant containing dead cells
33. Sagarika Ghose is associated with :
(A) NDTV (B) CNN-IBN
(C) Zee (D) Times Now
CLM-53711-A 3 [Turn over
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34. ‘FM’ in FM Radio stands for :
(A) Frequency Modulation (B) FunMusic
(C)  Fidelity Modulation (D) FastMusic

35.  Which English newspaper in India was the first to introduce colour (1940), first to
adopt wholly computerised integration of text and graphics in page make-up (1994),
and the first to go on Internet (1995) ?

(A) The Times of India (B) Indian Express
(C) AsianAge (D) TheHindu

36. Which internet search engine is associated with Microsoft ?
(A) Bing B) Google
(C) Baidu (D) ChaCha

37. Which among the following is the odd man out ?
(A) Thrive (B) Flourish
(C) Renovate (D) Blossom

38.  Which among the following is the odd man out ?
(A) Den (B) Burrow
(C) Roof (D) Nest

39. Which among the following is the odd man out 8,27, 64,100, 125,216,343 ?
A 27 B) 100
(C)} 425 (D) 343

40. Find the odd man out among the following 331, 482,551,263, 383,362,284 :
(A) 331 B) 551
(C) 263 (D) 383

41. 10% of388is:

(A) 3.88 B) 8.33
(C) 388 D) 83.3
CLM-53711-A
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42. If30% of anumber is 12.6, what is the number ?
(A) 40 B) 41
(C) 42 (D) None ofthe above

43. Aboat can travel with a speed of 13 km/hr in still water. If the speed of the stream is
4 km/hr, find the time taken by the boat to go 68 km downstream.
(A) 2hrs (B) 3hrs
(C) 4hrs (D) Shrs

44. A boat running upstream takes 8 hours 48 minutes to cover a certain distance, while

it takes 4 hours to cover the same distance running downstream. What is the ratio

between the speed of the boat and speed of the water current respectively ?

@A) 21 B) 3:1
©) 83 (D) Cannot be determined

Answer questions 45-48 on the basis of the table below :

Year Departments (Number of employees)
Production | Sales| Purchase| Accounts | Research
1989 150 25 50 45 75
1990 225 40 45 62 70
1991 450 65 30 90 s
1992 470 73 32 105 70
1993 500 80 35 132 74
1994 505 75 36 130 75

45. Tnwhich year, the total number of employees reached approximately twice the total
number of employees in the company in 1989 ?
(A) 1994 B) 1993
(C) 1992 (D) 1991

46. Inwhich of the following years, each department had more number of employees
than it had the immediately preceding year ?
(A) 1993 B) 1992
(Cy 1991 (D) 1990

CLM-53711-A
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47.  Which department had less than 10% of the total employees in every year from

1989 to 1994 ?
(A) Purchase
(C) Accounts

(B) Sales
(D) Research

48.  In which year is the ratio of employees in the research department : employees in

production department exactly 1:2 ?

(A) 1991
(C) 1989

49. Paw:Cat:: Hoof:?
(A) Horse
(C) Tiger

50. Eye:Myopia:: Teeth: ?
(A) Pyorrhea
(C) Trachoma

B) 1990
D) 1993

(B) Lion
(D) Elephant

(B) Cataract
(D) Eczema

51. Inacertain case GOODNESS is written as HNPCODTR. How is GREATNESS

written in that code ?
(A) FSDBSODTR
(C) HQFZUMEFRT

(B) HQFZSMFRT
(D) HQFZUODTR

52. Inacertain language gorblflur means ‘fan belt’, pixngorbl means ‘ceiling fan’ and
arthtusl means ‘tile roof”. Which word could mean “ceiling tile” ?

(A) Gorbltus!
(C) Arthflur

53. Which figure completes the series ?

B) Flurgorbl
(D) Pixnarth

-

E.
b

.
o

m=—

] O O ]
A B
A A B) B
<€ C D) D
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54. Which figure completes the statement ?

v e
1sto O
| [ |
as
isto
i = g o B
L]
=
A B C D

A A B) B
© C M) D

55.  Which figure completes the series ?

oOo AAA (I
DD ] ACA I:ID.

A B
A A B) B
© C ®) D
56. Which number should be in place of the interrogation mark in the grid below ?

? - 6
4 6 8
6 8 10

@) 2 ® 3

© 16 D) 5

57. Six pairs of shoes cost as much as 1 coat, 2 pairs of jeans cost as much as 3 pairs of
shoes, and 4 pairs of socks cost as much as one pair of jeans. How many coats
could [ exchange for 64 pairs of socks ?

A) 4 ®) 1
€ 2 D) 3
CLM-53711-A 9 [Turn over



58.

59,

60.

A barrel of milk was shared between four work teams of employees. The first team
took 1/3 of the milk, the second team took 1/2 of what was left, and the remaining
two teams shared the remaining milk equally between them. Ifthere were originally
240 litres of milk, how many litres of milk did the third team get ?

A) 20 B) 40

(©) 80 (D) 160

Aand B have some money with them. If A had 3 rupees more he would have twice
as much as B. If he had 4 rupees less, he would have the same amount as B. How
may rupees does A have ?

A) 4 ® 7

© 11 D) 14

In a survey 3/16 of people said they preferred to use product X, 5/8 said they did
not prefer to use product X, remaining 75 respondents had no opinion about the

product. How many people preferred product X ?
A 75 B) 125
(C) 100 D) 150

CLM-53711-A 10
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M.A. Linguistics/A
is a part of speech with tenses and moods, but without case, that signifies
acting or being acted upon.
(A) Noun (B) Adjective
(C) Advert (D) Verb

‘Heis stone deaf”. In the given sentence, the word ‘stone’ is used as :

(A) Noun (B) Adjective
(C) Adverb = (D) Verb
My wifecand | in Italy two weeks ago. We went there to ski.
(A) havebeen (B) are
(C) were (D) willbe

In which of the following sentences is the definite article used incorrectly ?
(A) Helivesinthe United States
(B) The Prime Minister was not present in the meeting
(C) They crossed the Pacific Ocean
(D} Heclimbed the Mount Everest

Linguistics is the study of :
(A) Behaviour (B) Culture
(C) History (D) Language

The science of sneech is known as :
(A) Pragmatics (B) Phonetics
(C) Morphology (D) Semantic

Who, among the following, is regarded as the father of modem linguistics ?
(A) Roman Jakobson (B) Noam Chomsky
(C) Ferdinand de Saussure (D) Daniel Jones

CMN-45548-A 12]



8. Theapplication of linguistic theories and methods to the analysis of disorders of

spoken, written or signed language is known as :

(A)
©

9. Theword ‘fool’ can be changed into adjective by adding the following suffix :

(A)
©

Biological Linguistics (B) Neurolinguistics
Clinical Linguistics (D) Ethnolinguistics

-ness ®) -y
-ish (D) -ism

10.  Givethe homophone of ‘sale” :

(A)
©

Ceal (B) Seal
Sail (D) Noneofthese

11.  *“Being on cloud nine” means :

(GY]
©)

Extremely happy (B) Flying
Disgusted (D) Noneofthese

12.  Which one of the following is the synonym of ‘Retract’ :

(A)
(B)
©
D)

produce
disbelieve
withdraw
admit

13. Lalla Ded used the following genre in her poetry :

(A)
®)
©
(D)

Shrukh
Vakh
Ghazal
Nazm

14. Whois the author of the book ‘Kashmiri Zubaan Aur Shaayri’ :

(A)
B
©
D)

Ghulam Ahmad Mahjoor
Rehman Rahi

Abdul Ahad Azad
Dinanath Nadim
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16.

20.

21:

. Themathnavi ‘Gulrez” has been written by :

(A) Magbool Shah Kralwari (B) Mohiuddin Miskin
(C) Mehmood Ghami (D) Abdul Ahad Nazim

Which one of the following is not the 20 century poet of Kashmiri language ?

(A) Rasul Mir (B) Rehman Rahi

(C)  AminKamil (D) Shafi Shaugq
ThePir Panjal.tmme], on Qazigund-Banihal railway line is the longest Railway
tunnel in Asia.

® 2 ® 3

© 4 ) 6
A part of the state legislative complex building collapsedin __ somemonths
back.

(A) Srinagar (By Jammu

(C) Leh (D) Chandigarh

Which of the following parties formed government in Uttar Pradesh after the elections
held in the year 20127

(A) Bahujan Samaj Party (B) Samajwadi Party

(C) BIP (D) Congressl

Who won the 2012 Champions Trophy in hockey ?
(A) Holland (B) Germmany
(C) Australia (D) Spain

Dida Rani, a famous queen of Kashmir, ruled from :
(A) 950ADto 973 AD (B) 980 ADto 1003 AD
(C) 1020 ADto 1043 AD (D) 1180 ADto 1203 AD

CMN-45548-A [4]



22. The famous ‘Pari Mahal’ situated in the south of Dal Lake was built by :

(A) ShahJahan (B) Jahangir
(C) Aurangzeb (D) DaraShikoh

23, *Quit Kashmir’ movement against Dogra rule was launched in the year :
(A) 1931 AD (B) 1937AD
(C) 1942AD (D) 1946 AD

24. Indra-Abdullah decord took place in the year :
(A) 1972 _ ®) 1975
(€ 1977 D) 1979

25.  Thebirth place of Sheikh Nooruddin Noorani RA is :
(A) Shopian (B) Charari Sharief
(C) Kaimoh (D) Tral

26. The famous waterfall ‘ Aharbal’ falls in the district :
(A) Ganderbal (B) Anantnag
(C) Kulgam (D) Pulwama

27. Keralaislocatedin:
(A) North India (B) WestIndia
(C) SouthIndia (D) EastIndia

28. Thepopulation of Indiais :
(A) 1.2billion (B) 1.6billion
(C) 1.8billion (D) 2.2billion

29. Under which article of the Constitution of India can the President take over the
administration of a state in case the Constitutional machinery breaks down ?
(A) Art83 (B) Art352
(C) Art3s6 (D) Art343

CMN-45548-A 151 |Turn over



30.

31

32

33.

34,

35.

36.

According to the Constitution of India, the Right to Property isa:
(A) Legal Right (B)  Fundamental Right
(C) FreeRight (D) Universal Right

The Lixecutive of the State is headed by :
(A)  The Governor
(B) The ChiclMinister
(C) The State Cabinct
(D) The State Legislative Council

Choose the correct answer with regard to the Panchayat Raj in Jammu and Kashmir
Stale :

(A) ] & K Constitution has its own Panchayat Raj Act

(B) J& K Constitution does not have its own Panchayat Raj Act

(C) Panchayat Raj Act of Indian Constitution is applicd in J & K State

()  Noncofthe above

___can bedefined as the development which meets the needs of the present

generation without compromising the needs of the future generations.
(A)  Social Development (B)  Solid Development
(C)  Sustainable Development (D) - Slow Development

As per the Planning Commission report, which state had the highest number of poor
population in2009-10?

(A)  Bihar (B)  Uttar Pradesh

(C) Muaharashira (D) Gujarat

Jawahar Rozgar Yojana was staried by :
(A)  Jawaharlal Nehru (B)  RajivGandhi
(C) IndiraGandhi (D)  Sanjay Gandhi

The primary objective of Green Revolution in India was :
(A) o increase Lhe extent of cash crop cultivation
(B) toincrease the arca of green forests under social forestry scheme
(C) tointroduce the Japanesc method of paddy cultivation
(D)  modernisation of agriculture through science and technology

CMN-45548-A 6]



37.

38.

40.

41.

42,

43.

44,

Which ofthe following is the lightest metal ?
(A) Mercury (B) Silver
(C) Lithium (D) Lead

Nuclear fission is caused by the impact of :
(A) Proton (B) Electron
(C) Neutron (D) Noneofthese

All the veins carty deoxygenated blood except :
(A) Hepatic vein (B) Subclavian vein
(C) Pulmonary vein (D) Portal vein

The largest flower in the world is that of :
(A) Lotus (B) Rafflesia
(C) Giant Cactus (D) Noneofthese

Doordarshan set up its centre in Srinagar in :
(A) 1959 B) 1971
(©) 1981 (D) 1984

The broadcasting system was introduced in India in :
(A) 1927 B) 1917
{C)y 1937 (D) 1947

Maulana Abul Kalam Azad published the following newspaper ?

(A) Zamindar (B) AlHilal
(C) Hamdard (D) Qaumi Awaz
CPU means :

(A) Controlled Processing Unit
(B) Compressed Processing Unit
(C) Central Processing Unit

(D) Computer Processing Unit
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45.

46.

47.

48.

49,

50.

If X is the brother of the son of Y’s son, how is X related to Y ?
(A) Son (B) Brother
(C) Cousin (D) Grandson

Alka is older than Mala, Gopal is older than Mala but younger than Alka. Kapil is
younger than Ram and Mala. Mala is older than Ram. Who is the youngest ?

(A) Mala (B) Ram

(€) Aka - (D) Kapil

After walking 6 kms, 1 turned right and covered a distance of 2 km, then turned left
and covered a distance of 10 km. In the end, | was moving towards the north. From
which direction did 1 start my journey ?

(A) North (B) South

(C) East (D) West

There are some benches in a classroom. If 4 students sit on each bench, 3 benches
are left unoccupied. However, if 3 students sit on each bench, 3 students are left
standing. How many students are there in the class ?

(A) 36 (B) 48

(C) 56 D) 64

If2x + y= 15,2y + z = 25and 2z + x = 26, what is the value of x ?
A) 4 ®) 7
cy 9 D) 1

Ifevery second Saturday and all Sundays are holidays in a 30 days month beginning
on Saturday, then how many working days are there in that month ?

(A) 20 B) 21

(C) 22 (Dy 23

Drama is related to the Director in the same way as Magazine is related to :
(A) Story (B) Editor
(C) Reader (D) Printer
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52.

53.

54,

55.

56.

57.

58.

Flower is related to the Petal in the same way as Book is related to -
(A} Page (B) Conlent
(C)  Author (D) Catalogue

Choose the missing letter in the givenseries: R, U, X, A, D,
A F B) G
© u D) 1

Find the next two terms in the Series: A, C, F,J, | o

(A) L,pP B) M,0

© 0,U D) R,V

Complete the given series by finding the missing term :
1,6,15, _ ,45,66,91

(A) 25 @) 26
(cy 27 (D) 28
Find the odd one out :
(A)  Parrot (3) Bat
(C) Crow (D) Sparrow

Inaclass, thereare 18 boys who arc 160 cm tall. If these constitute three-fourths of
the boys and the total number of boys is two-thirds of the total number of students in
the class, what is the number of girls in the class 7

(A) 6 B) 12

C) 18 (D) 24

A man has a certain number of small boxes to pack into parcels. If he packs 3, 4, 5
or6ina parcel, he is left with one over; if he packs 7 in a parcel, none is left over,
Whatis the number ol boxes he may have to pack ?

(A) 106 ®) 301

(C) 309 (D) 400
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Dircctions : Study the following table carefully to answer the questions that follow :

Sale (in crores) ol number of units by six different companics over the years.

Year/ Company 1997 1998 1999 2000 2001 2002
L 107 é(] 28.48 38 26.5 36.6
M 175.1 76 31.38 43 27.5 32.8
N 156.6 66.49 437 45.2 19 40.12
0 112.4 78.24 56.6 35.1 25.1 25
P 951 1118 532 489 22.5 37
Q T 192 72.18 3104 422 17 30

59. Number ol units sold by company M in the year 2002 is what per cent of the total
number of units sold by all the companies together in that year ?
(A) 14.16 B) 21.48
(C©) 16.28 (D) 26.26

60. Which company has sold the maximum number of units over the years ?

") Q ®) M
(© N D P

CMN-45548-A [10]
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Fill in the blanks with appropriate words given below :

Mahesh had to drop his plan of going to picture as he had certain........... to take care
of during that period.

(a) Transactions (b) Preparations

(¢) Commitments (d) Urgencies

What is the present name of the ancient city Pragjyothispur founded by king
Naraskusar whose son Bhagadatta fought the battle of Kurukshetra on the side of
Kauravas ?

(a) Amritsar (b) Kathua

(¢) Guwahati (d) Jaipur

Which State enjoys the distinction of being first linguistic State of India ?
(a) Kerala (b) Andhra Pradesh
(¢) Tamil Nadu (d) Punjab

In which language did Buddha preach ?
(a) Pali (b) Magadhi
(c) Prakrit (d) Saurseni ”

What forms the main theme of Ajanta Paintings ?
(a) Jataka Stories (b) Stories from Ramayana
(c) Stories from Mahabharata (d) Panchtantra Stories

The sufi saint who maintained that devotional music was one way of coming close to
god was :

(a) Moin-ud-din Chisti (R.A.)

(b) BabaFarid (R.A.)

(c) Saiyid Mohammad Gesurdaraz (R.A.)

(d) Shah Alam Bukhari (R.A.)

Mughal painting reached its zenith under :
(a) Humayun (b) Akbar
(c) Jahangir (d) Shahjahan

ELW-6722 2
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8. Which ofthe following pairs is correctly matched ?
(a) Ellora Caves—Saka (b) Mahabalipuram-Rashtrakutas
(c) Munakeshi Temple- Pallavas (d) Khajuraho—Chandelas

9.  Black Schist is the main stone used in :
(a) Mauryan Sculptures (b) Ghandhara Sculptures
(¢) GuptaSculptures (d) Rashtrakuta Sculptures

10. Sher Shah's real name was :
(a) Farid (b)  Bahadur
(c) Faizi (d) Hemu

1. Thereligion of early Vedic Aryans was primarily one of the following :
(a) Bhakti (b) Image worship and Yajnas
(c) Yajnas and worship of nature (d) Worship of nature and Bhakti

12.  The......to distinguish differences is the basis of science and art.
Choose the appropriate word to fill in the blanks from the following :
(a) Wisdom (b) Tact
(c) Strength (d) Power »

13, Once I forgot the piece of paper on which the name of hotel was written, I was as ....

as lost.

Choose the appropriate word to fill in the blanks from the following :
(a) Sure (b) Good
(c) Bad (d) Much

14. The examinee could guess............. the answer correctly.

Choose the appropriate word to fill in the blank from the following :
(a) at (b) about
(c) of (d) no word necessary

15. TheJailersaw ....... the prisoner’s scheme.
Choose the appropriate word to fill in the blanks from the following :
(a) into (b) about
(c) through (d) to
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16.

18.

20.

20

22.

The neglected spark...... the dry wood and soon there wasa.......
Choose the appropriate pair of words to fill in the blanks from the following :

(a) burnt, charcoal (b) kindled, blaze

(c) fired, fire (d) charred, smoke
Thek s welcome was matched by the.......... words that were spoken on the occa-
sion.
Choose the appropriate pair of words to fill in the blanks from the following :

(a) grandiose, grandiloquent (b) sobor, euologistic

(c) colourful, sober (d) tumultuous, solemn

No one with self-respect can...... remarks....... to his reputation.

Choose the appropriate pair of words to fill in the blanks from the following :
(a) bear, conducive (b) brook, derogatory
(c) accept, deprecating (d) tolerate, abusive

It requires great skill to make a horse....... a.....
Choose the appropriate pair of words from the following to fill in the blanks :

(a) prance, lot (b) drink, liquid

(c) negotiate, fence (d) pin,trick
Teraplap is anewly devised :

(a) Missileboat (b) Gummachine

(c) Electronicrobot (d) Super computer
Super treeisa:

(a) Sketch indicating Jurassic beasts

(b) A technique of American nuclear warfare

(c) A tree which at best prevents soil erosion

(d) A forest tree which is being developed for agricultural use by American
scientists

Amlidopineisanew :
(a) Indigenousely produced anti-hypertensive drug
(b) Drugused to relieve pain in body parts
(c) Drugused to cure AIDS patients
(d) Drugused as anti-rabies
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23. Match:

I I

1. Auditory A. Hearing
2. Trochlear B. Eyeball movement
3. Trigeminal C. Cutaneous movement
4. Vagus D. Gastric

(@ 1A 2B 3C 4D

(b) 1B 2A 3D 4C

() 1A 2C 3D 4B

d 1D 2A 3C 4D

24. Seasickness is due to the effect of the motion of ship on :
(a) intemnal ear (b) heart
(c) stomach (d) eyes

25.  Which one of the following is the best method for improving the nutritional quality of

pulses ?
(a) Cookingbyboiling (b) Soaking and sprouting
(c) Fermatation of dough (d) Baking

26. Finger-prints on paper can be made visible by spraying a solution of :
(a) Sodium thiosulphate (b) Silvernitrate -
(c) Ninhydrin (d) Ferric Chloride

27. Theremark Nehru s a patriot and Jinnah is a politician was made by :
(a) M.K. Gandhi (b) Maulana Azad
(c) SirMohammad Igbal (d) Khan Abdul Gaffar Khan

28.  Who tells Every thing has to sold alive so that each may know what he buys.....?
(a) Barbose (b) Paes
(c) Cont (d) Nuniz

29. “Thereis one lamp in this house, by whose rays, wherever I look there is an assem-

bly”.
The above lines, embodying the essence of both the Vedanta and Sufism were writ-
tenby:
(a) BabaFighani (b) Abdul-i-Wahid
. (c) Sheikh Nuru-d-Din (d) Kabir
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30.

31.

32.

33.

34.

35.

All the 120 students of a school are members of the dramatic club, debating club or
both. If90 are in the debating club and 70 in the dramatic club, how many are in both
clubs ? :

(a) 30 b)) 20

(c) 40 d 25

Vijay starts walking straight towards east. After walking 75 meters he turns to the left
and walks 25 meters straight. Again he turns to left, walks a distance of 40 meters
straight, again he turns to left and walks a distance of 25 meters. How far is he from

the starting point ?
(a) 35meters (b)  SO0meters
(c) 25 meters (d) None ofthe above

4,12, 30, 68, 146, 302, 622 ........

Find the wrong number in the series :
(a) 30 (b) 68
(c) 12 (c) 302

Approximate value of 16% of 841 is :

(a) 120 (b) 135 >
(c) 140 (d) 150
Match the following list :
List1 List I
A. Island of cloves 1. Brazl
B. Cruzeiro 2. Israel
C. Knesset 3. Zanzibar
D. Granitecity 4.  Aberdeen
A B i€ D
(a) 2 1 E 3
(b) 3 1 4 3
(¢ 3 1 2 4
d) 4 8 2
The brain receives and ends signals in the form of :
(a) electrical impulses (b) mechanical impulses
(c) chemical impulses (d) magneticimpulses
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36. The seaappears blue because of :
(a) Greatdepth
(b) Reflection of sky and scattering of light by water molecules
(c) Bluecolourof water
(d) Upper layer of water

37. When we eat the flesh of a sheep or goat we are ?
(a) Primary consumer (b) Secondary consumer
(c) Tertiary consumer (d) Noneofthe above

38. The Arabian Sea and the Persian Gulfare connected by the :
(a) Strait of Bab-el-Mandeb (b) Hormuz Strait
(c) Straitof Messina (d) Palk Strait

39. Ifawatch, based on an oscillating spring, is taken to the moon, it will :
(a) Become fast (b) Becomeslow
(c) Becomeslow and fast altematively(d) Become unaffected

40. .Which ofthe following Englishmen was honoured by Jahangir with the title of “Khan’ ?
(a) Hawkins (b) Sir Thomas Roe -
(¢) Edward Terry (d) Noneoftheabove

41. Linguistics has been defined as :
(a) thescientific study of human natural language
(b) the practical knowledge of more languages
(c) thedescription of human cultures
(d) thestudy of human history

42. The study of the history of words is known as :

(a) lexicography (b) etymology
(c) dialectology (d) semantics

43. Thescience of speech is known as :

(a) phonecians (b) morphology
(c) phonetics (d) pragmatics
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44,

45.

46.

47.

48.

49.

50.

51

52,

Lingua franca of Jammu and Kashmir State is :

(@) English (b) Persian
(c) Sanskrit (d) Urdu

The official language of Jammu and Kashmir State is :
(a) English (b) Kashmiri
(c) Dogri (d) Urdu

Alphabetical writing system was invented by :

(a) Romans (b) Arabs
(c) Greeks (d) Aryans
Which of the following writing systems is used for Kashmiri language ?
(a) syllabic (b) logographic
(c) alphabetic (d) bothsyllabic and alphabetic

Word order of Kashmiri sentence is :

(a) subject verb object (b) verb subject object
(c) object verb subject (d) subject object verb
’
Kalhana wrote Rajatarangini in :
(a) 1142 A.D. (b) 1148 A.D.
(c) 1152AD. (d) 1158A.D.

Sultan Zain-ul-Ab-ul-din ascended the throne in :
(a) 1417 AD. (b) 1421 A.D.
(c) 1425A.D. (d) 1431 AD.

Akbar conquered the Valley of Kashmirin :
(a) 1580A.D. (b) 1582A.D.
(¢) 1584 A.D. (d) 1586 A.D.

The magnificent palace Zaina Dab was built during the reign of :
(a) Rainchan Shah (b) Sultan Sikandar
(c) Sultan Zain-ul-Ab-ul-din (d) YusufKhan
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53. The Shah-i-Hamdan mosque was commenced in the reign of :
(a) Sultan Kutub-ud-Din (b) Sultan Hassan Shah
(c) Sultan Sikandar (d) Sultan Shams-ud-din
54.  Which ofthe following rays ofthe sunlight help the Solar Cooker in its heating ?
(a) Infrared rays (b) Cosmicrays
(¢) Ultraviolet rays (d) Redlightrays
55. The World Watch Institute has warned that an Asian country may be the most popu-
lous country on Earth by the year 2050. Which of the following is that country ?
(a) China (b) India
(c) Pakistan (d) Nepal
56. Which ofthe following gases makes the major portion of air ?
(a) Carbondioxide (b) Nitrogen
(c) Argon (d) Oxygen
57.  Which of'the following vitamins is considered good for eyes ?
(@ K ®b) A
(c) B d C
,
58.  Which ofthe following is not a language for Computer Programming ?
(a) WINDOWS’98 (b) PASCAL
(c) BASIC (d) COBOL
59. Mr. Jose Saramgo who won the Nobel Prize for Literature in 1998, belongs to
which ofthe following countries ?
(a) Spain (b) Italy
(c) Ireland (d) Portugal
60. Recently, a group of scientists successfully cloned eight calves from the cells of a
single cow. The experiment took place in :
(a) Japan (b) Britain
(c) Switzerland (d) USA.
ELW-6722 9
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LINGUISTICS 2006

1. Who among the following studied the knowledge of Ancient Greece and made great advances
in astronomy, mathematics and medical sciences during gt century A.D?

(a) Indians

(b) Chinese

(c) Arab

(d) Australians

2. The system of writing called 'Hieroglyphics' was used by :
a) Ancient Egyptians

(b) Dravidians

(c) Chinese

(d) Babylonians

3. Name the 'mathematical language' in which problems are solved using symbols in place of
unknown numbers.

a) Geometry

b) Arithmetic

(c) Algebra

(d) Astronomy

4. The rulers of Ancient Egypt were called
(a) Monarchs

(b) Pharaohs

(c) Monks

(d) Minoans

5. A writer's original typed or hand written version of a work is called:
a) Copyright

(b) Papyrus

(c) Manuscript

(d) Sculpture

6. Which of the following words has a meaning but no reference?
(a) Uniform

(b) Dictionary

(c) Unit



(d) Unicorn

7. Two words with same meaning is called:
(a) Homophone

(b) Antonym

(c) Paraphrase

(d) Synonym

8. The events that a writer describes in work of literature are called:
(a) Plot

(b) Story

(c) Theme

(d) Character

9. Arundhati Roy refused to accept the:
(a) Booker Prize Award

(b) Sahitya Academy Award

(c) Saraswati Suman Award

(d) Nobel Prize Award

10. The science of spelling is known as:
(a) Orthography

(b) Lexicography

(c) Graphology

(d) Etymology

11. What is the most natural and comprehensive medium of language?
a) Writing

(b) Reading

(c) Speaking

(d) Gestures

12. Which of the following statements is correct ?
(a) Phonetics is the science of sounds

(b) Phonetics is the science of animal sounds

(c) Phonetics is the science of speech sounds

(d) . Phonetics is the science of natural sounds

13. Find out the odd man
(a) Articulation

b) Transmission

c¢) Reception

(d) Transcription

14. A process whereby speakers of one language are in linguistic contact with speakers of other
language is called
a) communication



(b) Intercommunication
(¢) Intra-communication
(d) Language communication

15. Etymology is the study of origin and development of :
(a) Words

(b) Sentences

(c) Verbs

(d) Alphabets

16. The circulation of blood was first understood by :
(a) European scientists

(b) Indian scientists

(c) Arab scientists

(d) Turkish scientists

17. Find the odd man out :
(a) Socrates

(b) Plato

(c) Marx

(d) Aristotle

18. 'Drama’ as a genre of literature was born in :
(a) Ancient Arab

(b) Ancient India

(c) Ancient Egypt

(d) Ancient Greece

19. Who according to Hindu Mythology is the creator of language?
(a) Saraswati

(b) Brahma

(c) Laxmi

(d) Shiva

20. Which of the following is not true?

(a) Jonathan Swift wrote Gulliver's Travels in 1726

(b) The theme of Gulliver's Travels is the character of 18th Century England

(c) The Lalliput is an imaginary land which is represented in the Gulliver's Travels
(d) Lalliputians are small speechless creatures

21. The word 'Eskimo' refers to :
(a) Eaters of grass

(b) Eaters of raw meat

(c) Eaters of birds

(d) Eaters of green vegetables



22. Scholars who study fossils are called :
(a) Anthropologists

(b) Palacontologists

(c) Ethologists

d oalistologists

23. Which oe 0 owing is not an African Country ?

a) Namibia
(b) Sudan
(c) Tunisia
(d) Malta

24. the tallest animal on earth is :
(a) Hippopotamus

(b) Panoglin

(c) Giraffe

(d) Hyena

25. Which of the following is not true?

(a) Birds and mam. mals are warm-blooded

(b) Fishes, reptiles and amphibians are cold-blooded
(c) Birds include koalas, pelicans and gulls
(d) Mammals include mice and cats

26. Which of the following is not included among the earliest civilizations of the world?
(a) European
(b) Indus Valley
(c) Egyptian
(d) Chinese

27. The only mammal capable of flight is
(a) Platypus

(b) Opossums

(c) Bats

(d) Kangaroos

28. Buddhists share with Hindus a belief known as
(a) Nirvan

(b) Vesakha Puja

(c) Dharamacakra Day

(d) Nothing among the above

29. Julius Caesar was the head of :
(a) Byzantine Empire
(b) Roman Republic



(c) Ottoman Empire
(d) None of the above

30. Chameleon is famous for changing its
(a) Size

(b) Body

(c) Shape

(d) Colour

31. Mandarin is a language spoken in
(a) America

(b) India

(c) China

(d Nepal

32. Which statement among the following is not true about Mother Teresa?
(a) she was born in Albania

(b) she had become an Indian citizen

(c) she was not awarded Nobel Peace Prize

(d) she worked for poor, sick and down trodden peoP le

33. ABishop presides and organsises the worship of whole region from:
(a) Chusrch

(b) Cathedral

(e) Temple

(d) Dome

34. Who wrote the following?
“The workers have nothing to loose................. but their chains. They have a world to gain.”
a) Mao Zedong
b) B) Vladimir Lenin
¢) C) Fidel Castro
d) D) Karl Marx

35. The ,eight fold*is a concept of :

a) Buddhism

(b) Jainism

(c) Sikhism

(d) Sanatan Dharma

36. Which of the following crops needs maximum amount of water?
(a) Maize

(b) Sugarcane

(c) Barley

(d) Rice

37. The state with the highest silk production is
(a) West Bengal



(b) Jammu and Kashmir
(c) Karnataka
(d) Assam

38. Fahien visited India during the times of :
(a) Harsha

(b) Chandragupta Vikramaditya

(c) Kanishka

(d) Ashoka

39. B is the father of C, but C is not the son of B. Whatis Cto B ?
(a) Brother

(b) Sister

(c) Daughter

(d) Uncle

40. Which of the following vowel letter is suffixed to the following words so as to form new
words?

Man, Hat, Born, Hid

(@ a

(b) e

(c)i
(d)u

41. Which pair is different from other in the following ?
a) Extravagant and Lavish

b) Disloyal Treacherous

¢) Freedom and Bondage

d) Integrity and Honesty

42. Which pair is different from other in the following?
(a) Start and Finish

(b) Hero and Play

(c) Plan and Cancel

(d) Accept and Reject

43. If 9th of the month falls 3 days before Saturday. What day will dawn on the 21st of the month?
(a) Sunday

(b) Monday

(c) Thursday

d) Friday

44. Which word is from a different meaning field?
(a) Beggar

(b) Baker

(c) Clerk

(d) Coolie

45. Which of the following languages is N0t recognised in the Indian Constitution?



(a) Kashmiri
(b) Urdu

(c) Punjabi
(d) Dogri

46. What was the old name of Iran?
(a) Persia

(b) Mesopotamia

(c) Siam

(d) None of the above

47. Which of the following is not noun ?
(a) Refusal

(b) Spoilage

(c) Kind

(d) Governance

48. Which of the following is not verb?
(a) Change

(b) Construct

(c) Firm

(d) Fulfill

49. "Cut it out" is
(a) Idiom

(b) Metaphor

(c)- Compound
(d) Proverb

50. Which of the following is ungrammatical ?
(a) I hurt myself

(b) He hurt himself

(c) They hurt themselves

(d) He hurt myself

51. Which of the following is wrong?
(a) Lip of the needle

(b) Pulse of the nation

(c) Mouth of a river

(d) Leg of a table

52. Which of the following is grammatical/meaningful ?
(a) My sister bought himself a car

(b) Even u an could swim the length of this pool

(c) The elephant could read this line

(d) The coffee pot tried to burn me this morning

53. Which of the following meanings does not contain this sentence?



"Rahim's wife works in Secretariat."
(a) Rahim is married

(b) Rahim is male

(c) Rahim's wife is alive

(d) Rahim is employee

54. Which of the following is not true about humans?

(a) Humans have smaller jaws and larger brains than apes
(b) Humans hand has longer thumb than apes

(c) Humans have longer shoulders than apes

(d) Humans have longer legs than apes

55. Who has propounded '"The Theory of Evolution' ?
(a) Sigmund Frued

(b) Charles Darwin

(c) Johnson Strauss

(d) None of the above

56. Which of the following is NOt ‘the branch of Physics ?
(a) Acoustics

(b) Quantum Mechanics

(¢) Electromagnetism

(d) Pragmatism

57. Which is the largest planet is the solar system ?
(a) Jupiter

(b) Earth

(c) Mars

(d) Venus

58. William Shakespeare is NOt the author of:
a) Pride and Prejudice

b) Hamlet

c) As you like it

d) Henry V

59. Who won the Sahitya Academy Award for Kashmiri Literature in 2005 ?
a) Rahman Rahi

b) Amin Kamil

¢) Hamidi Kashmiri

d) None of the above

60. Who is the author of 'The Iliad' and 'The Odyssey' ?
(a) Plato

(b) Aristotle

(c) Homer

(d) None of the above



LINGUISTICS 2007

1. Sound waves travel fastest in:
a) brass

(b) hydrogen

(c) oxygen

(d) water

2. Which one of the following sets of constituents is used for making safel§ matches?
(a) Carbon, sulphur and glue

(b) Potassium chlorate, antimony sulphate and glue

(c) Lead dioxide, carbon and paraffin

(d) Silicon dioxide ulphur and paraffin

3. Athletes normall ha e larger sized hearts because :

(a) Their blood is thicker and requires more heart muscles to circulate it

(b) Their cardiac output is regulated by change of cardiac rate during workout

(c) greater blood pressure developed during work-out required thicker heart walls
(d) their cardiac output is regulated by change of stroke volume during work-out

4. Terapalp is a newly devised:
(a) Missile boat

(b) Gum machine

(c) Electronic robot

(d) Super computer

5. The India's position in the world, in respect of lodine deficiency cases is :
(a) First

(b) Second

(c) Fourth

(d) Sixth

6. Super tree is a :

(a) Sketch indicating Jurassic beasts

(b) A technique of American nuclear warfare

(c) A tree which at best prevents soil erosion

(d) A forest tree which is being developed for agricultural use by American Scients

7. Amlidopine is a new

(a) Indigenously produced anti-hypersensitive drug
(b) Drug used to relieve pain in body parts

(c) Drug produced to cure AIDS patients

(d) Drug used as anti-rabies



8. Sea sickness is due to the effect of the motion of shipin:
(a) internal ear

(b) heart

(c) stomach

(d) eyes

9. Finger-print on paper can be made visible by spraying a solution of:
(a) Sodium thiosulphate

(b) Silver nitrate

(c) Ninhydrin

(d) Ferric chloride

10. If the length of the pendulum is increased by four times, then its period of oscillation will
become:

(a) half

(b) twice

(c) four times

(d) eight times

11. Which org m of the following pairs are usually consumers in a forest ecosystem
(a) Rabbit and Snake

(b) Deer and Rabbit

(c) Frog and Deer

(d) Earthworm and Snake

12. Imagine a few balls of the same material but of different sizes are allowed to fall freely from
different heights in vacuum. Which of the following quantities would remain the same for these
falling ball?

(a) Velocity

(b) Attraction force

(c) Displacement

(d) Acceleration

13. Which of the following institutions recently developed the first Robot in India named
"PROGMAN 150"?

(a) Centre for the Development of Advanced Computing, Pune

(b) Indian Institute of Science, Bangalore

(c) Tata Institute of Science, Bangalore

(d) Centre for Artificial Intelligence and Robots, Bangalore

14. In which of the following pairs of disease, germs are injected into human ~ blood stream by a
secondary host:

(a) Rabies and malaria

(b) Malaria and typhoid

(c) Tetanus and cholera

(d) Typhoid and rabies



15. Petroleum is found in
(a) . Igneous rocks

(b) Sedimentary rocks
(c) Metamorphic rocks
(d) None of the above

16. The brain receives and ends signals in the form of':
(a) electrical impulses

(b) mechanical impulses

(c) chemical impulses

(d) magnetic impulses

17. The Roaring Forties is/are

(a) Westerly winds in the Southern Hemisphere

(b) Westerly winds in the Northern Hemisphere

(c) One of the major water currents of the Atlantic Ocean
(d). The most dangerous river of China

18. Which of the following is not root plant?
(a) Carrots

(b) Sweet potatoes

(c) Turnips

(d) Coftee

19. The earth turns through 360,in 24 hours. Each 15,longitude represents:
(a) Half an hour

(b) Forty-five minutes

(c) One hour

(d) One hour fifteen minutes

20.. During dehydration, the substance that is usually lost by the body is
(a) Sugar

(b) Sodium chloride

(c) Calcium phosphate

(d) Potassium chloride

21. The most commonly used substances in fluorescent tubes are
(a) Sodium oxide and argon

(b) Sodium vapour and neon

(c) Mercury vapour and argon

(d) Mercuric oxide and neon

22. Circular hado of the earth on the moon occurs during the
(a) Lunar Eclips

(b) Solar eclips

¢) Sun-rise



(d) Sun-set

23. Which one of the following in an ecosystem traps solar energy ?
(a) Transformers

(b) Consumers

(c) Decomposers

(d) Producers

24. Which one of the following does no~ lay eggs 2

(a) Lizard

(b) Bat

(c) Pigeon

(d) Platypus

25. Which was first animal to make space flight ?
(a) Monkey

(b) Dog

(c) Cat

(d) Rabbit

26. Datum line:

(a) Is a horizontal line from where heights and depths are measured

(b) Is the line of demarcation between Pakistan and India

(c) Refers to the date line or calendar line

(d) Is an imaginary line which passes through zero degree meridian

27. All the 120 senior students of a school are members of the dramatic club club, debating club
or both. If 90 are in the debating club and 70 in the dramatic club, how many are in both clubs?
(@) 30

(b) 20

(c) 40

(d) 25

28. If you walk towards a plane mirror at a speed of 10 cm/s, at what speed does your image
approach you?

(@) 5 cm/s

(b) 10 cm/s

c) 20 cm/s

(d) Information inadequate

29. In a class of 23 boys the average age is 16. If teacher's age is included the average age will
increase by 1 year. Teacher's age is:

(a) 34

(b) 35

(c) 40

(d) 45

30. 4, 12, 30, 68, .146, 302, 622 .
Find the wrong number in the series.



(a) 30
(b) 68
(c) 12
(d) 302

31. Approximate value of 16% of 841 is :
(a) 120

(b) 135

(c) 140

(d)5

32. If 1" September of a certain year was Saturday, what date was on the last Monday of October
of that year?

a) 27"

(b) 28th

(c) 29th

(d) 30th

33. If a watch, based on an oscillating spring, is taken to the moon, it will :
(a) Become fast

(b) Become slow

(c) Become slow and fast alternately

(d) Remain unaffected

34. Among the following sentences in which the word 'Comb' acts as verb?
(a) The woman found a comb

(b) The boy should comb his hair

(c) The comb you possess is of good stuff

d) John left the comb on the table

35. Which one of the following sentences is ungrammatical?
a) John looked up the telephone number

b) John looked the telephone number.

c¢) John looked up the hill

d) John looked the hill up.

36. Which one of the following sentences is ungrammatical?
(a) Marry turned down the street

(b) Marry turned the street down

(c) Marry turned down my idea

(d) Marry turned my idea down

37. Which one of the following is the series of intransitive verbs?
(a) read, wash, break

(b) use, debate, write

(c) die, sit, weep

(d) fax, xerox, 'eat



38. Which one of the following is the series of articles ?
(a) may, can, be

(b) is, are, will

(c). a, an, the

(d) have} shall, must

39. Among the following sentences in which the noun 'boy' is in the genitive case?
(a) The boy read the book

(b) The boys ran fast

(c) The boy washed the cloths

(d) The boy's book is on the table

40. Which one of the following sentence ungrammatical?
(a) Who do you think that Marry met yesterday?

(b) Who do you think Marry met yesterday?

(c) Who do you think arrived yesterday?

(d) Who do you think that arrived yesterday?

Linguistic has been defined as

(a) the scientific study of societies

(b) practical know ledge of many languages

(¢) the scientific study of the nature of human language

(d) the study of the origin and distribution of cultures

42. The minimum forest cover necessary to maintain ecological balance 1s
(a) 25% of the total land
(b) 50% of the total land
(c) 40% of the total land
(d) ~3% of the total land

43. Which of the following is a land locked river?
(a) Tapti

(b) Krishna

(c) Luni

d) Narmada

44. Which of the following is correctly matched?
a) Shahnama-Omar Khayyam

b) Lajja-Quarratul-ain Haider

c¢) The Rubaiyat-Abdul Fazal

d) Gul-e-Naghma-Firaq Gorukhpuri

45. Blue dwarfs' and Red giants, refer respectively to
(a) Pigmies and caucasian

(b) Young stars and old stars

(c) Old stars and young stars

(d) Native and hybrid varieties of milch cattle

46. "The Gift of Time; the case for Abolishing Nuclear Weapons Now" is a book written by which of the
following authors?



(a) Karamchand Rana
(b) Romila Thapar

(c) D.B.N. Murthy

(d) Janathan Schell

47. The 'Pahari School', 'Rajput School', '"Mughal School' and 'Kangra School' represent different styles in
the art of:

(a) Architecture

(b) Painting

(c) Dancing

(d) Music

48. Rajatarangini is chronicled history of Kashmir documenting:
(a) the Hindu Kings

(b) the Mughals

(c) the Pathans

(d) the Salatini Kashmir

49. The first ruler of Salatin-I-Kashmir was:
(a) Shams-ud-Din

(b) Zain-ul-Ab-ul-Din

(¢) Haidar Shah

(d) Ghazi Khan

50. Sultan Skindar came to the throne in :
(a) 1390 A.D.
(b) 1392 A.D.
(c) 1394 A.D.
(d) 1396 A.D.

51. Who among the following discovered the charms of Gulmarg ?
(a) Ghazi Khan

(b) Kazi Khan

(¢) Yusuf Khan

(d) Yukub Khan

52. Who among the following wa the first Dogra ruler of Kashmir ?
(a) Hari Singh

(b) Gulab Singh

(c) Pratab Singh

(d) Rambir ingh

53. Who among the following is the founder of Reshi order of saints In Kashmir?
(a) Shukr-ud-Din

(b) Sheikh Noor-ud-Din Noorani

(¢) Zain-ud-Din

(d) Bam-ud-Din

54. Habba Khatoon stand as a milestone in the romantic poetry of :
(a) 15th Century



(b) 16th Century
(c) 17th Century
(d) 18th Century

55. Urdu was declared the official language of J & K state during
(a) Mughals

(b) Pathans

(¢) Sikh rule

(d) Dogra rule

56. Who among the following is the author of the book "The Valley of Kashmir"?
(a) Buhler

(b) Sir Alexander Cunningham

(c) Walter R Lawrence

(d) Sir George Abraham Grierson

57. Persian language entered into the Valley of Kashmir during
(a) Sultans

(b Pathans

(c) Mughals

(d) Dogras

58. Which of the following scripts Kashmiri language adopts ?
(a) Devnagri

(b) Roman

(c) Sharda

(d) Persio-Arabic

59. Which of the following languages function as lingua-franca across different linguistic
communities in J & K state?

(a) Dogri

(o) . Ladakhi

(c) Punjabi

(d) Urdu

60. The earliest inscription on stone were in which language °
(a) Prakrit

(b) Pali

(c) Sanskrit

(d) Brahmi



LINGUISTICS 2008

1. Who among the following is the author of the book Ulysses ?
(A) Jame Jo ee

(B) T.S. Elot

(C) Leo Tolstoy

(D) William Wordsworth

2. D.V.D. stands for which of the following?
(A) Digital Video Disk

(B) Digital Vacuum Disk

(C) Dried Vacuum Disk

(D) None of the above

3. "There is one lamp in this house, by whose rays, wherever I look there is an assembly." These
lines, embodying the essence of both the Vedantas and Sufism were written by :

(A) Baba Faghani

(B) Abdul-I-Wahid

(C) Sheikh ur-ud-din

(D) Kabir

4. Who tells, "Every thing has to be sold alive so that each may know what he buys ....." ?
(A) Barbose

(B) Paes

(C) Conti

D) Nunzi

5. Who among the following is the. author of the book "The Snake Chamber"?
(A) R.K. Laxman

(B) Sanjay Nigam

(C) Sanjay Singh

(D) K.M. Panikkar

6. The Mughal emperor who wrote his own autobiography in Persi~n wa
(A) Akbar

(B) Jahangir

(C) Shah Jahan

(D) Aurangzeb

7. Circular shadows of the earth on the moon occurs during the
(A) Lunar Eclipse



(B) -Solar Eclipse
(C) Sun-rise
(D) Sun-set

8. Green glands are

(A) Glands with chlorophyll

(B) Glands with copper sulphate
(C) Excretory organ

(D) Respiratory organ

9. Who wrote the book Tehgig-i-Hind ?
(A) Megasthenes

(B) Herodotus

(C) Amir Khusrau

(D) Alberuni

10. Itsing, a Chinese traveller visited India during the
(A) Reign of Harsha

(B) Reign of Chandragupta II

(C) 7th century A.D.

(D) 8th century A.D

11. Which of the following throws light on Harappan culture?
(A) Rock edicts

(B) Archeological excavations

(C) Writing in terra cotta seals

(D) All of the. above

12. Patanjali, the famou grammarian, was a contemporary of :
(A) Agnimitra bunga

(B) Pu h amitra Shunga

(C) Vas de -Kanva

(D Ga tamiputra Sataharni

13. Name of the Persian version of Mahabharat, translated during Akbar's reign:
(A) Akbar Nama

B) Igbal Nama

(C) Sakinat-up-Auliya

(D) Razm Nama

14. The 'Sufi order which was popularised in India by the first Mughal emperor Babur was:
(A) Nagshbandiya

(B) Qadiriya

(C) Suhrawardi

(D) Chistiya



15. Thoamong the following has been awarded the 1998 Nobel Physics Prize for his work
"Fractional Quantum Hall Effect"?

(A) Daniel. C. Tsui

(B) Robert B. Laughin

(C) Horst L. Stomere

(D) All of these

16. If the length of the .pendulum is increased by four times then its period of oscillation will
become:

(A) half

(B) twice

C) four times

(D) eight times

17. If you walk towards a plane mirror at a speed of 10 crnl: a what speed does your image
approach you?

(A) 5 cm/s

(B) 10 cm/s

(C) 20 cm/s

(D) Information inadequate

18. Assertion (A): A pool of water looks shallower than it actually is.

Reason (R): Light bends towards the normal while travelling from water to air.
(A) Both A and R are correct, and R explains A

(B) Both A and R are correct, but R does not explain A

(C) A 1s right, R is wrong

(D) A is wrong, R is right

19. What is the continental shelf?

(A) Mountain ranges that edge a continent

(B) The raised land on the continent's edge

(C) The land that gently slopes and extends below sea-level from the coasts of the continents
before sharply sloping to form the sea floor in the deeps

(D) A plateau in the centre of a continent

20. Which of the following is/are matched correctly?

(1) Solar day-time period required for the successive passage of the sun over a given meridian
(2) Sidereal day-time required for earth's rotation through 360 degrees

(3) Synodic month-period of moon's revolution round the earth

(4) Sidereal month-period of earth's revolution from the sun.

(A)2and 3

(B)3and 4

(C) only 2

(D) 1 and 2

21. How many languages are included in the 8th schedule of the constitution?



A) 11
®) 12
©) 18
D) 15

22. Which one of the following is an ecosystem traps solar energy ?
A7) Transformers

(B) Consumers

(C) Decomposers

(D) Producers

23. How many schedules are there in the constitution?
(A) 395

(B) 8

©)9

D) 10

24. India in 1987 was a union of :
(A) 20 states

(B) 14 states

(C) 21 states

(D) 25 states

25. In which of the following ways can Indian citizenship be acquired?
(A) By descent

(B) By naturalisation

(C) By registration

(D) All of the above

26. The granting of fundamental rights to citizens aims at ensuring
(A) An independent judiciary

(B) Socialistic government

(C) Individual liberty

(D) None of the above

27. Indian economy is most appropriately described as a
(A) Socialist economy

(B) Mixed economy

(C) Capitalist economy

(D) None of the above

28. Mixed economy envisages

(A) Co-existence of capitalists and labourers

(B) Integrated economic development

(C) Development of agriculture and industry simultaneously.
(D) Private and public sectors



29. Which of the following states has a literacy rate of 90 percent?
(A) Mizoram

(B) Himachal Pradesh

(C) Tamil Nadu

(D) Kerala

30. Which of the following states has the least literacy rate?
(A) Rajasthan

(B) Himachal Pradesh

(C) Uttar Pradesh

(D) Madhya Pradesh

31. States earn maximum revenue through:
(A) Land revenue

(B) Custom duties

(C) Commercial taxes

D) Excise duties on intoxicants

32. Match the following
| I

(1) Auditory (a) Hearing

(2) Trochlear (b) Eyeball movement
(3) Trigeminal (c) Cutaneous movement
(4) Vagus (d) Gastric

(A) I(a) 2(b) 3(c) 4(d)

(B) 1(b) 2(a) 3(d) 4(c)

(©) I(a) 2(c) 3(d) 4(b)

D) 1(d) 2(a) 3(c) 4(d)

33. What is the life expectancy at birth for India for 1991-1996 ?
(A) 60 years

(B) 61.6 years

(C) 62.7 years

(D) 65 years

34. Which one of the following is the best method for improving the nutritional quality of
pulses?

(A) Cooking by boiling

(B) Soaking and sprouting

(C) Fermentation of dough

(D) Baking

35. Which one of the\ following is not the correct combination?
(A) Shine, shone, shone



(B) Shoot, shot, shot
(C) Sleep, slept, slept
(D) Sing, sang, sang

36. Which one of the following is incorrect adjective derived from verb ?
(A) wash: washable

(B) break: breakable

(C) sleep: sleepable

(D) use: usable

37. Which one of the following is an ungrammatical sentence?
(A) John turned down my idea

(B) John turned my idea down

(C) John turned down the street

(D) John turned the street down

38. Which one of the following is an ungrammatical sentece ?
(A) Who do you think that Marry met yesterday

(B) Who do you think Marry met yesterday

(C) Who do you think arrived yesterday

(D) Who do you think that arrived yesterday

39. 4,12, 30, 68, 146, 302, 622 .....
Find the wrong number in the series.
(A) 30

(B) 68

(C) 12

(D) 302

40. Lalitaditya is said to have built an image ofMukhtswami and a large monastery with the
Stups for the Buddhists at:

(A) Ushkpur

(B) Bandipore

(C) Awantipore

(D) Sumbal

41. The arrows of Ram Chander and Lachman are found at :
(A) Khushipore

(B) Ushkpur

(C) Burzahama

(D) Kherbhawni

42. Kalhana wrote Rajatarangini during the reign of :
(A) Lalitaditya

(B) Jaya imha

(C) Zain-ul-Ab-ul-din



(D) Fattech Shah

43. Zain-ul-Ab-ul-din ruled Kashmir for a period of :
(A) Fifty years

(B) Fifty two years

(C) Fifty four years

(D) Fifty six years

44. Haider Shah was throned as the ruler of Kashmir in
(A) 1467
(B) 1468
(C) 1469
(D) 1472

45. The Shrine of Sufi Saint Baba Shukr-ud-din (R.A.) is situated at :
(A) Ashmugam

(B) Chrari Shereif

(C) Watlab

(D). Tosh Maidan

46. The birth place of Hazrat Sultani Arefee (RA) is
(A) Wular Lake

(B) Laiddar Lake

(C) Tujar

(D) Hari Parbat

47. The Shah-i-Hamdan mosque was commenced in the reign of :
(A) Sultan Qutb-ud-din

(B) Sultan Sikandar

(C) Sultan Zainul-Abidin

(D) Sultan Hassan Shah

48. The author of "Journey to Kashmir, the Paradise of Indies" is
(A) Bernier

(B) Lawrence

(C) Drew

(D) Edward Buk

49. The first Linguistic Survey of India was conducted by :
(A) S.K. Chatterji

(B) Sir Abraham Grierson

(C) Walter Lawrence

(D) Sir William Jones

50. Kashmiri language is grouped in
(A) Indo-European family



(B) Dravidian family
(C) Sino-Tibetean family
(D) Sematic family

51. Which of'the following languages is the lingua-franca for J&K State?
(A) Kashmiri

(B) Dogri

(C) Urdu

(D) Ladakhi

52. Which of the following scripts is adopted for writing Kashmiri ?
(A) Roman

(B) Persio-Arabic

(C) Devnagari

(D) Sharda

53. Which of the following word orders is followed for Kashmiri simple sentences?
(A) Subject-verb-object

(B) erb-subject-object

(C Object-verb-subject

(D Subject-object-verb

54. Which of the following languages was declared as the official language of J&.K state during
Dogra rule?

(A) Persian

(B) Kashmiri

(C) Sanskrit

(D) Urdu

55. The discipline aims at understanding the nature of human natural language 1s:
(A) Anthropology

(B) Linguistics

(C) Psychology

(D) Metaphysics

56. Etymology studies the history of :
(A) Words

(B) Cultures

(C) Races

(D) Tribes

57. The science of speech is called:
(A) Physics

(B) Phonetics

(C) Syntax

(D) Morphology



58. A verb that takes direct object is called:
(A) Intransitive verb

(B) Adverb

(C) Transitive verb

(D) Adjective

59. Every year five lakh Indians die of :
(A) Encephalitis

(B) AIDS

(C) Cancer

(D) Tuberculosis

60. A radioactive substance emits:
(A) Alpha particles

(B) Beta particles

(C) Gamma particles

(D) All of the above
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